EFRFR— IR AN (1K) (20235 %) BE&H P RATHARER

ITBUHL X 2 F5: 3 RAT HH#: 2023-07-10 &it: 4577 MER:
13,578.28
K5 JECK )V R AE & kA AN T AR (7)) AP AR T V)
1,525.650 8.900 13,578.28
1|7k 7k A B IIX JAE 2 [HT A 14 2.85/8.900 25.37
2|k kiR X /55 2 3 B /4 2.1/8.900 18.69
ElER i ) IX S FE 2 [ A /1AL 5.1{8.900 45.39
Al - FNX /A% 2 [ B/ 2.3/8.900 20.47
5|sift 4> ’ )X /A 2 [ R /14 2.7/8.900 24.03
ETSS BN A5 2 [ R /14t 4.46/8.900 39.69
7) 8 gt ’ ) X /A5 2 8 Rk /14 3.7/8.900 32.93
8| 77 #k X /A% 2 [ R /14 3.2/8.900 28.48
N A )1 X /3% 2 8T R /14 218.900 17.8
10| F 42 X 5 2 /8 A1 1.8/8.900 16.02
11| F [5 8 B IIX JAE 2 [H A 14 2.1/8.900 18.69
12| F B X /5 2 /8 A /14 1.9|8.900 16.91
13| JE 5% X A 2 3 B/ 5.9|8.900 52.51
14| 3 &1 ’ I X /A 2[R R /14 3.6/8.900 32.04
15| Fitar ’ )X /A 2 [ R /14 3.1/8.900 27.59
16| F ML3% X /5 2 8 A1 5.9|8.900 52.51
17| 1 BIIX /A 5% 2 [ A /14t 1.9/8.900 16.91
18| FH < 7% BN A% 2 JET R /14 3.1/8.900 27.59
19] T X4k e )1 X /A% 2 FB RbsS /14 5.6/8.900 49.84
20[ 7k 2% X 8 2 /8 A1 2.7/8.900 24.03
21| X )1 X /A 2 SR IRA /1AL 2.7/8.900 24.03
22| FaLe B X /5 2 /8 A /14 5.6/8.900 49.84
23| 5K JE I B )X /A 2 [ R A /14 3.7/8.900 32.93
28| F s FIIX A 2 T Rk /14 2.78(8.900 24.74
25| £ )X /A 2 [ R /14 1.7/8.900 15.13
263 ¢ bk ) X /55 2 [ Rk /14 1.8(8.900 16.02
27|28 BIIX /A 5% 2 [ A /14t 4.6/8.900 40.94
28| 5B Bt ’ I X /A 2 R R /14 2|8.900 17.8




29| o7 ik X /A 2 [ R /14 3.07/8.900 27.32
30[ F X /3 2 8 A1 2.6/8.900 23.14
31|24 2> RN X /A 2 [ R /14t 0.9/8.900 8.01
32| Fi 4 X S 2 8 A1 5.4/8.900 48.06
33| A )| X /A58 2 [ A /14 3.7|8.900 32.93
34| F I X /A 2[R R /14 4/8.900 35.6
35| 5 m I X /A5 2 [8T b /14 5.39(8.900 47.97
36| VF ik B X /5 2 /8 A1 2.8/8.900 24.92
37| VF 5N BN X /A 2 [ R /14t 2.9(8.900 25.81
38|y 4 FIX A 2 T Rk /14 2.62|8.900 23.32
39|45 v it X /A 2 [ R /14 3(8.900 26.7
40| 4 H 7 X /5 2 8 A1 3/8.900 26.7
41|35 N 25 BNX /A YE 2 [ B /14 1.9|8.900 16.91
A2| F [ 1% X S 2 8 A1 2.8/8.900 24.92
43|t i 4 A )X /A 2 [ BT /14 2.4/8.900 21.36
A4k [F A X 5 2 /8 A1 1.7(8.900 15.13
45| [H 3¢ ’ ) X /A3 2 JHT IRk /14 3.2/8.900 28.48
B B X /5 2 /8 A /14 2.9/8.900 25.81
47| F [H 3 X /A 2 [ R /14t 2.9/8.900 25.81
A8 B FIIX A 2 T Rk /14 1.3(8.900 11.57
49| By 7 K X /A 2 [ R /14 3.4(8.900 30.26
50| F [ i X /5 2 8 A1 2.6/8.900 23.14
512 Btk X /3535 2 [ RA /14 3.6/8.900 32.04
52(7k B X X /5 2 /8 A1 3.2/8.900 28.48
S3| BAE A )1 X /3% 2 8 R /14 4{8.900 35.6
5415 i B X 8 2 /8 A1 1.5(8.900 13.35
55| i it ’ I X /A3 2 J8T IR /14 3.4(8.900 30.26
56| # i 5L ’ I XA 2[R R /1AL 2|8.900 17.8
57[1% FH RN X /A 2 [ R /14t 3.3/8.900 29.37
58| 14 I Hf] FIIX A 2 T Rk /14 2.4(8.900 21.36
59| & 3 1 X /A 2 [ R /14 3.4/8.900 30.26
60| J& X /5 2 8 A1 6.3/8.900 56.07
61| J& S0 oF BNX /A2 [ B /14 2.4/8.900 21.36
62| % 1P X 2 8 A1 7.4/8.900 65.86




63| B W R IX A 2 [3T Rk 14k 2.4{8.900 21.36
64|21 X /3 2 8 A1 2.7|8.900 24.03
65| F [ X A5 2 3 B/ 2.8(8.900 24.92
66| T [H #ij X S 2 8 A1 2.3/8.900 20.47
67| F &2 B X /A 2 /8 Bk /14 3.1(8.900 27.59
68| pli X 5 2 8 A1 2|8.900 17.8
69| Y4 FIIX JAE 2 [HT A 24 7.5(8.900 66.75
70[ g R IX A 2 [3T ok /241 3.6/8.900 32.04
71| T X /A 2 [ R /24t 3.9/8.900 34.71
72| FIX A 2 T Rk 24 10.1(8.900 89.89
73| 5k AN X /A 2 [ R /24t 4.4|8.900 39.16
74| A p X /5 2 8 At 24 4.2]8.900 37.38
75| B Jifipk X A 2 3 B 24 4.4(8.900 39.16
76| 2 i 4 M IX/AE 2 [HT M/ 24 5.6/8.900 49.84
77| B, ’ I X /A3 2 J8T Ik 24+ 4.6|8.900 40.94
78| %1 1E 48 X 8 2 8 A 24 4.94(8.900 43.97
79| 321 & M1l B )IIX S AE 2 [HT A 24 6.4(8.900 56.96
80| E T3k B X /5 2 J A 24 7.3/8.900 64.97
81 1118 B X /A 2 [ RA /24t 5.1{8.900 45.39
82|kt FIX /A 2 T Rk 24 4.1|8.900 36.49
83| %11k Ny X /A 2 [ R /24t 6.3/8.900 56.07
84| 1k 7k ’ )1 X /A 2[R R 24E 3/8.900 26.7
85| 1] K- ’ I XA 2 J8 R /241 3.1/8.900 27.59
86| 1| k1) X S 2 8 At 24 2.6/8.900 23.14
87| x| 1E A B X /A 2 /38 Bk 24 3/8.900 26.7
88| EiTH X 8 2 8 A 24 3.7|8.900 32.93
89| |2 ’ I X /A3 2 J8T IRk /24 5.3/8.900 47.17
90| F 4 k¢ B X /58 2 [ A 24 5.5/8.900 48.95
91| FiEiE RN X /A 2 [ R /24t 3.7/8.900 32.93
92[#5l FIIX A 2 T Rk 24 5.9(8.900 52.51
93|k ke X AE 2 3 B 24 4.9(8.900 43.61
94| - i X /58 2 8 At 24 5.9/8.900 52.51
95| 4% #k BNX /A YE 2 [ B 24 4.9(8.900 43,61
96| F 7k & X /3 2 8 A2 4 6.6/8.900 58.74




97|% £ X /A 2 [ R /24t 5.2/8.900 46.28

98|y 4> X /5 2 8 At 24 4.98.900 43.61

99| 7 /I Y )X /5% 2 J3 Rk 24 4.7|8.900 41.83
100| 47~ {f X S 2 8 At 24 3.6/8.900 32.04
1014 74 B ’ ) X /A3 2 [8T IR /24 6.9(8.900 61.41
102| F K X 8 2 8 At 24 6.4/8.900 56.96
103[ £ %4t ’ ) X /A3 2 JHT Ik /24 2.9(8.900 25.81
104|458 A R IX A 2 [3T ok /241 4.1/8.900 36.49
105| %' B 3% X /A 2 [ R /24t 3.8[8.900 33.82
106|# 7k #k R IX /A 2 [T ok /24E 4(8.900 35.6
107| 3% 5 25 X /A 2 [ R /24t 5.4(8.900 48.06
108| &' i X /5 2 8 At 24 4.1/8.900 36.49
109| %' B ¢ ) IX A 2 [ A f24E 3.9(8.900 34.71
110 A& R IX A 2 [T ok /241 3.7[8.900 32.93
111 F iR ’ I X /A3 2 J8T Ik 24+ 4.2|8.900 37.38
112| FAR R IX A 2 [HT b /241 2.4/8.900 21.36
113 2 R ’ ) X /A3 2 J8T Ik /24 6.7/8.900 59.63
114| F 4515 B X /5 2 J A 24 5.4/8.900 48.06
115|9K sl 75 X /A 2 [ R /24t 5.1/8.900 45.39
116[7k & 4e R IX /A 2 [T ok [24E 6(8.900 53.4
11734~ 7T M X/ AE 2 [ A /24t 3.5(8.900 31.15
118[3K K [ R IX A 2 [H7 ok /24E 4.2(8.900 37.38
119] 5K i35 ’ I XA 2 J8 R /241 2.3/8.900 20.47
120 5k 7 B R IX A 2 [T ok /241 1.7/8.900 15.13
121 5 W5 ’ ) X /A3 2 [8T Ik /34 1.9(8.900 16.91
12245 5 ¥k R IX A 2 [3T ok /34E 2.6/8.900 23.14
123|255 A ’ I X /A3 2 J8T IRk /34 3.4/8.900 30.26
1242 Fj ¢k X /58 2 /8 At /34 3.8/8.900 33.82
125|251 45 RN X /A 2 [ R /3% 2.5|8.900 22.25
126|245 FIIX A 2 [ Rk /34 2.6(8.900 23.14
127| A X /A 2 [ R /3% 2(8.900 17.8
128 #k2H R IX A 2 [87 ok /34E 2.5(8.900 22.25
129|285 RN X /A 2 [ R /3% 3.9(8.900 34.71
130|#k B X /5 2 8 At /34 2.6/8.900 23.14




131 F k& X /A 2 [ R /3% 2.1/8.900 18.69
132|750 X /5 2 8 A /34 2.8/8.900 24.92
133\ hnk X A 2 3 B34 4.8/8.900 42.72
13442 n g R IX A 2 [HT ok /34E 2.1{8.900 18.69
135| F 7k ke F I X /A3 2 [HT Ik /34 5.5/8.900 48.95
136| 14 R IX A 2 [3T ok /34E 2.1/8.900 18.69
137|350k ’ I X /A3 2 JHT IRk /34 3.3/8.900 29.37
138 {7 5% 1 B X /5 2 /8 At /34 2.1/8.900 18.69
139| F g3 RN X /A 2 [ R /3% 4.1/8.900 36.49
140| £t 57 R IX /A5 2 [T b /34E 1.3(8.900 11.57
141\ {5 k%% X /A 2 [ R /3% 3.2/8.900 28.48
1425 i 4k R IX A 2 [H7 ok /34E 1.3(8.900 11.57
1438 1 /& RN IX /A 2 [ R /3%t 2.1{8.900 18.69
1445 11175 R IX A 2 [HT ok /34E 2(8.900 17.8
145| f5 55 2 ’ I X /A3 2 [8T IR /34 1.9(8.900 16.91
146| 17 # X 5 2 /8 At /34 2.5/8.900 22.25
1474 W ’ I X /A3 2 J8T IR /34 2(8.900 17.8
148|471k R IX A 2 [3T ok /34E 2.1/8.900 18.69
149\ #7ik 7% X /A 2 [ R /3% 0.7|8.900 6.23
150|2s 2 R IX /A5 2 [87 ok /34E 4.2|18.900 37.38
151 F VT X /A 2 [ R /3% 2.5/8.900 22.25
152|517t Fa ) IX A 2 [H7 ok /34E 3.5/8.900 31.15
153| =y RN X /A 2 [ R /3% 1.9(8.900 16.91
154 {7 8% o5 R IX A 2 [HT ok /34E 0.5|8.900 4.45
155|455 it ’ ) X /A3 2 [8T Ik /34 1.2(8.900 10.68
156| & i 1k X/ AE 2 [ET A /3% 1.8(8.900 16.02
157\ 5yt w1 X /A% 2 [T R A /34 5.78.900 50.73
158|475 #% X /58 2 /8 At /34 2.1/8.900 18.69
159\ ik K RN X /A 2 [ R /3% 0.5(8.900 4.45
160 & 3 B FIX A 2 T Rk /a4t 1.6(8.900 14.24
161| ¥ 7k 45 X A 2 [3T Kok /44E 2.78.900 24.03
162|146 X /58 2 /8 At /At 2.3/8.900 20.47
163tk H-+5 M) X /5% 2[5 Rk adt 3.6(8.900 32.04
1645 1A R IX A 2 [HT ok /44t 3(8.900 26.7




1655 1175 RN X /A 2 [ R /axt 5.2(8.900 46.28
166[#H7E R IX A 2 [H7 b /44t 3(8.900 26.7
167 % ) IX S FE 2 [ A /44t 4{8.900 35.6
168|347k it R IX A 2 [HT ok /44t 3.9/8.900 34.71
169| &5 4 ’ ) X /A3 2 [HT IR /44 2.5/8.900 22.25
170 FAE R IX A 2 [#T b /a4t 3.7/8.900 32.93
171]dHEH 5% ’ I X /A3 2 [HT IR /44t 5.1{8.900 45.39
172| F 4 R IX A 2 [37 ok /44t 4.4|8.900 39.16
173[ Folte RN X A 2 [ RA/axt 0.9(8.900 8.01
174| AL 0] FIIX A 2 T Rk jatt 2.2(8.900 19.58
1755 ()% RN X /A 2 [ R /axt 1.6(8.900 14.24
176| s ity R IX A 2 [H7 ok /44t 3.1/8.900 27.59
177|255 58 )X /A3 2 JH BRA /4%t 2.6|8.900 23.14
178[Z4=1E e R IX A 2 [3T ok /44t 3(8.900 26.7
179|776 3 F I X /A3 2 [8T IR /44 3(8.900 26.7
180| 4 7k 4= R IX A 2 3T b /44E 3.8[8.900 33.82
181|#254 2 F ) X /A3 2 JHT IRk /44 1.7|8.900 15.13
182| 1 K A B X /5 2 /8 A /At 5.6/8.900 49.84
183[#% 46 RN IX /A 2 [ R /axt 4.8|8.900 42.72
184| F % 1H FIIX A 2 T Rk /a4t 4.8/8.900 42.72
185[# fifi i X /A 2 [ R /aFt 2.7|8.900 24.03
186| 2k 2 £F X /5 2 J8 At /At 3.8/8.900 33.82
187\ ¥ 7 4 R IX S AE 2 [3T Kok /44t 3.7[8.900 32.93
188\ 7K R IX A 2 [HT ok /44t 2.5/8.900 22.25
189 XIIEZE F I X /A3 2 [8T Ik /44 2.6(8.900 23.14
190| kft4E R IX A 2 [3T ok /44E 2.9/8.900 25.81
191k At B B X A5 2 [ ROR /44 4.5|8.900 40.05
192| J7 &z B X /5 2 /8 A /At 2.9/8.900 25.81
193| ¥ 37 45 RN X /A 2 [ R /axt 2.7|8.900 24.03
194|#7ik 2% R IX /A 2 [T b /44t 2.7|8.900 24.03
195| F {3 X /A 2 [ R /axt 2.2/8.900 19.58
196 4> R IX A5 2 [H7 ok /44t 2.3[8.900 20.47
197[ @it =2 RN X /A 2 [ R /4%t 1.7(8.900 15.13
198| F & #; X S 2 /8 At At 3.1/8.900 27.59




199|425 A RN X /A 2 [ R /axt 2.8[8.900 24.92
200| F 7k {2 X /5 2 /8 A /At 2.6/8.900 23.14
201| F 8 B X /A0 2 [T R /a4t 1.8(8.900 16.02
W ER s R IX A 2 [HT ok /44t 2.2/8.900 19.58
203| F 4 B X /A 2 /38 Bk /a4 2.7|8.900 24.03
204 7% 2 R IX A 2 [#T b /a4t 3(8.900 26.7
205| F /5 )1 X /A% 2 Sf Rksf /a4 2.9(8.900 25.81
206)| {1 1£ ’ I X /A 2 [8 R a4E 3.7|8.900 32.93
207|357k s RN X A 2 [ RA/axt 2.9(8.900 25.81
208| #h - B FIIX A 2 T Rk jatt 2.9(8.900 25.81
209| F AR RN X /A 2 [ R /axt 3.9(8.900 34.71
210| YRt 4 X /3 2 J8 A At 3.1/8.900 27.59
211 F B X /A 2 [T R /a4t 3.32(8.900 29.55
212| F % X 5 2 8 At /At 4.32(8.900 38.45
213z e 5% A IX /A 2 [ B /a4t 2.3|8.900 20.47
214| [ 5 4 X /58 2 /8 At /At 2.6/8.900 23.14
215| H7E i F ) X /A3 2 JHT IRk /44 5.4(8.900 48.06
216| i = 75 R IX A 2 [37 ok /44t 3.2/8.900 28.48
217| %22 RN IX /A 2 [ R /axt 1.7/8.900 15.13
218| T4 T R IX /A5 2 [HT b /44t 3.1{8.900 27.59
219[HH ST R IX A 2 [3T Kok /44E 3.1/8.900 27.59
220| 1] K R IX A 2 [H7 ok /44t 2.2/8.900 19.58
221|5K V7 58 ) IX S FE 2 [ A /44t 2.1{8.900 18.69
222|x1) e r R IX A 2 [HT ok /44t 1.9(8.900 16.91
R XA 2 [ R a4t 2.2|8.900 19.58
224\ ot R IX A 2 [3T ok /44E 4.2|8.900 37.38
225|711 B ’ ) X /A3 2 [HT IRk /44t 1.9(8.900 16.91
226|17 HnA R IX A 2 [37 ok /44t 3.1/8.900 27.59
227| £ B X /A 2 [ A /a4t 2.7|8.900 24.03
228| T R IX /A 2 [T b /44t 2.2(8.900 19.58
229| F 45 X /A 2 [ R /axt 1/8.900 8.9
230 it =k R IX A5 2 [H7 ok /44t 2(8.900 17.8
231 £ RN X /A 2 [ R /4%t 3.4(8.900 30.26
232| £k R IX A 2 [HT ok /44t 5.06(8.900 45.03




233\ k % X /A 2 [ R /54 4.1/8.900 36.49
234\ kAL 1 X /5 2 /8 At /54 4.1/8.900 36.49
235| 4 B = RN X /A 2 [ R /54 1.6(8.900 14.24
236|170 R IX A 2 [HT ok /54E 3(8.900 26.7
237| Rk ’ I X /A3 2 [8T Ik /54 3.3[8.900 29.37
238| At 4 X /5 2 /8 At /54 5.1/8.900 45.39
239| 4 JF 4t ’ I X /A3 2 [8T IRk /54t 3.4/8.900 30.26
240( 4 FF A R IX A 2 [37 ok /54E 2(8.900 17.8
241|355 2% R IX S 2 [3T Rk /54 3.8[8.900 33.82
242 & iyt R IX /A5 2 [37 b /54E 3.2[8.900 28.48
243|314 X /A 2 [ R /54 4.2|8.900 37.38
244\ i 4 X /3 2 /8 At /54 3.2/8.900 28.48
245| 5 H 1 RN X /A 2 [ R /54 3.2[8.900 28.48
246| 3 fH 4 X 5 2 /8 At /54 4.1/8.900 36.49
247\ 51 ’ I X /A3 2 [8T Ik /54 4.2|8.900 37.38
248|314 %1 B B IX /5 2 /8 At /54 4.8|8.900 42.72
249| % K B ’ I X /A3 2 J8T IRk /54t 4(8.900 35.6
250| % K 7 B X /5 2 /8 At /54 2.8/8.900 24.92
251|357k [H RN X /A 2 [ R /54 3(8.900 26.7
252 # k8 R IX /A 2 [#7 b /54E 3.3(8.900 29.37
253| % K ke RN X /A 2 [ R /54 3.2/8.900 28.48
2543 fhi 1k X /5 2 J8 At /54 3.8/8.900 33.82
255| S BT RN X /A 2 [ R /54 4.4(8.900 39.16
256|214 B X 5 2 /8 At /54 3/8.900 26.7
257 5 j1 5% ’ I X /A3 2 [8T Ik /54t 3.2[8.900 28.48
258| {7 i = X /5 2 /8 At /54 3.2/8.900 28.48
259| 3 B ’ ) X /A3 2 [8T IRk /54t 5.2(8.900 46.28
260| 5 it R IX A 2 [37 ok /54E 6(8.900 53.4
261| [ % RN X A 2 [ R /54 2.1/8.900 18.69
262|455 X A 2 T Rk /54 1.6(8.900 14.24
263| X} J5 AL X /A 2 [ R /54 4.6|8.900 40.94
264| {7 i B X /5 2 /8 At /54 3.1/8.900 27.59
265 {5y 41 RN X /A 2 [ RA /54 4.3(8.900 38.27
266|255 X /5 2 /8 At /54 2.1/8.900 18.69




267| %~ X /A 2 [ R /54 3.1{8.900 27.59
268( 2= 73yt R IX A 2 [H7 ok /54E 5.7[8.900 50.73
269|255 4> RN X /A 2 [ R /54 3.6(8.900 32.04
YO ESL R IX A 2 [HT ok /54E 3.2/8.900 28.48
271|245 i Rl ’ I X /A3 2 [8T Ik /54 3.1{8.900 27.59
272|511 X /5 2 /8 At /54 4.98.900 43.61
273\ 4 ’ I X /A3 2 [8T IRk /54t 1.9(8.900 16.91
274\ Y1k X /5 2 /8 At /54 3.8/8.900 33.82
275| & 5 04 X /A 2 [ R /54 3(8.900 26.7
276| 4 R IX /A5 2 [37 b /54E 3.6/8.900 32.04
277|146 FF ¢ X /A 2 [ R /54 2.9(8.900 25.81
278 & I1 it R IX A 2 [87 ok /54E 3.8(8.900 33.82
279|3% K [l RN X /A 2 [ R /54 1.4(8.900 12.46
280| 2 #E Jz X 5 2 /8 At /54 6.7|8.900 59.63
281| 2= E A ’ I X /A3 2 [8T Ik /54 3.7[8.900 32.93
282|ZSfE A B IX /5 2 /8 At /54 0.9]8.900 8.01
283| 25 7F 4> w1 X /A% 2 [T R A /54E 5.8[8.900 51.62
284| {1k R IX A 2 [37 ok /54E 3.2/8.900 28.48
285| R iES RN X /A 2 [ R /54 2.7|8.900 24.03
286 {1 ) FIIX A 2 T Rk /54 1.3(8.900 11.57
287 {# ki RN X /A 2 [ R /54 4.4(8.900 39.16
288|{# > B X /5 2 J8 At /54 2.8/8.900 24.92
289| e Y ik X fA3E 2 3 B /54 4.7|8.900 41.83
290| F 1A B X 5 2 /8 At /54 7.2|8.900 64.08
291|725 {{ 4k ’ I X /A3 2 [8T Ik /54t 2.6/8.900 23.14
292| 2 AL b X /5 2 /8 At /54 5.8/8.900 51.62
293| F [H ik ’ ) X /A3 2 [8T IRk /54t 2.7|8.900 24.03
294 FH4R B X /5 2 /8 At /54 9.2|8.900 81.88
295| F .00 RN X A 2 [ R /54 5(8.900 44.5
296| 7= {5k X A 2 T Rk /54 3.1(8.900 27.59
297 [ >% X /A 2 [ R /54 3.5(8.900 31.15
298| 17 1 1% R IX A 2 [H7 ok /54E 4.2|18.900 37.38
299| F ¥ % RN X /A 2 [ RA /54 2.6(8.900 23.14
300| = e 5 X /5 2 /8 At /54 3/8.900 26.7




301| F 0L ’ )X /A 2 [ AT /54 0.8(8.900 7.12
3023 A ’ )1 X /AT 2 [8 R /5 4L 4(8.900 35.6
303(Z 74 ’ )X /A5 2 8 Rk /54 3|8.900 26.7
304| F [H ) X /55 2 [ Rk /54 2.6/8.900 23.14
305| 2= 4% 3 )1 X /A% 2 SF Rk /64 3.3/8.900 29.37
306| % i )X/ E 2 [ R /64t 3.4/8.900 30.26
307)F L4 w1 X /3% 2 8T AT /64t 2/8.900 17.8
308|3 i ko ) X/ E 2 [ R /64t 2.9|8.900 25.81
3009|7 fi 5 ’ )X /A5 2 8 Rk /64 3.3|8.900 29.37
310[ 2= 4k 4 ) X /A% 2 S Rk /64t 3.3|8.900 29.37
3112 gk ) X /3% 2 S R /64t 3.6/8.900 32.04
312| YA ’ )1 X /A 2[R R /6 4L 2.5/8.900 22.25
313| 4t ] ’ )X /A5 2 8 IRk /64 4/8.900 35.6
314| Y46 )X/ E 2 [ R /64t 2.6/8.900 23.14
315| [ 2 w1 X /3% 2 [8T R /64 0.8/8.900 7.12
316|%2 ik )X/ E 2 [ Rk /64t 0.9/8.900 8.01
317|% dikE )1 X /A% 2 FB Rk /64 3.8/8.900 33.82
318241 ) X/ E 2 [ R /64t 2.4/18.900 21.36
31925 /N2 ’ )X /A5 2 8 Rk /64 4/8.900 35.6
320\ i A ’ I X /A 2 [E R A /6 4L 3.4(8.900 30.26
321 B w4 )X /A 2 [ R AT /64 5.6/8.900 49.84
322| YA ’ )1 X /A 2 [8 R /64E 4.7(8.900 41.83
323| [ = ’ )X /A5 2 8 IRk /64 4.2|18.900 37.38
324\ rhte )X /A5 2 [ Rk /64t 1.6/8.900 14.24
3254 h 2 )1 X /A% 2 FF Rk /64 2.4/8.900 21.36
326| [ %2 [H ) X/ E 2 [ Rk /64t 4.5/8.900 40.05
327| & ) )1 X /A% 2 Sf Rk /64 2.9/8.900 25.81
328 ) X/ E 2 B R /64t 2.9|8.900 25.81
329| ¥ o Bl )X /A 2 [ R AT /64 2.3/8.900 20.47
330|322 ] ) X /% 2 [ Rk /64t 3.2|8.900 28.48
331| %)yt )X /A 2 [ R AT /64 3.7/8.900 32.93
332| F ki ’ )1 X /A 2 [H R /6 4L 7.5/8.900 66.75
333|p s ’ )X /A5 2 8 IRk /64 3.88.900 33.82
334w % ) X /A5 2 [ Rk /64t 3.8/8.900 33.82




335| 55 X /A 2 [ R /64t 4.1/8.900 36.49
336| [ =1& X /5 2 /8 A et 3.6/8.900 32.04
337|H =1L X /A 2 [ R /64t 6/8.900 53.4
338k A X /5 2 /8 At et 3.2/8.900 28.48
339|#235 ’ I X /A3 2 [8T IR /64t 11.5/8.900 102.35
340| 5z 9% X /5 2 /8 A et 8.2|8.900 72.98
3417k kiR ’ I X /A3 2 [HT Ik /64t 3.6/8.900 32.04
342|# 2 B X /5 2 /8 A 64t 4.2]8.900 37.38
343| F ik pk X /A 2 [ R /64t 1.6/8.900 14.24
344|375 R IX /A 2 [37 b /6 4L 4(8.900 35.6
345\ 4 s X /A 2 [ R /64t 5.2(8.900 46.28
346| & X /5 2 /8 A et 4.1/8.900 36.49
347| [ 7 p X /A 2 [ R /64t 3.1{8.900 27.59
348| T & R IX A 2 [37 ok /6 4L 4.2|18.900 37.38
349| H Z=#f ’ ) X /A3 2 [HT IR /64t 7.7|18.900 68.53
350 kA48 X /5 2 /8 A et 3.2/8.900 28.48
351| A4 b ’ I X /A3 2 JHT IRk /64t 6.2/8.900 55.18
352| 2 4k Bl R IX A 2 [3T b /64E 4.8|8.900 42.72
353|254k [ X /A 2 [ R /64t 4.7/8.900 41.83
354| F sk it R IX /A 2 [37 b /6 4L 9.4/8.900 83.66
355| [ =6 ) IX A 2 [H Kok /64E 3.2[8.900 28.48
356| = 5k R IX A 2 [HT b /64E 3.2/8.900 28.48
357| 3% [H 7% X A 2 3 B 74 3.9(8.900 34.71
358|122 k4 R IX A 2 [T ok /748 1.2(8.900 10.68
359| 2k )l 45 XA 2 [ RAH /74 3.1/8.900 27.59
360| [ R IX A 2 [3T b /74E 3.6/8.900 32.04
361 [T 1k ’ ) X /A3 2 J8T IR /74 2.9/8.900 25.81
362| kG 7% B X /5 2 8 At 74 2.9/8.900 25.81
363 i X /A 2 [ R/ 74 2.1/8.900 18.69
364| %1 7% FIIX A 2 [ Rk /74 2.5(8.900 22.25
365|724k M X /A 2 [ R /74 4.3(8.900 38.27
366| 2= 4 fi R IX A 2 [H7 ok /748 1.9(8.900 16.91
367|240 X /A% 2 [ A 74 5.4{8.900 48.06
368| 24t R IX A 2 [ ok /748 4.6(8.900 40.94




369| 2= 4 %) M X /A 2 [ A /74 2.27/8.900 20.2
37024 X /58 2 8 A 74 3.07|8.900 27.32
371 E 7% R IX A 2 [3T Rk /741 9.8(8.900 87.22
3722 [H ’ I X /A 2 R R /74 3/8.900 26.7
373|3% ik 4 m X /A 2 [ A 74 5.1{8.900 45.39
374 Ay X 8 2 8 A 74 2.96|8.900 26.34
375\ IE4E ’ I X /A3 2 JHT IRk /74 3(8.900 26.7
376| & {3 B X /5 2 /8 A 74 1.2(8.900 10.68
377 & k& X /A 2 [ R 74 3.5(8.900 31.15
378|724 It FIIX A S [ Rk 74 2.3(8.900 20.47
3793k iy X /A 2 [ R84k 1.4(8.900 12.46
380 B R IX A 2 [H7 b /8 4k 2.3/8.900 20.47
381| % k °F RN X /A 2 [ R /84t 1/8.900 8.9
382 & fi 2f R IX A 2 [#T ok /84E 1.9(8.900 16.91
383|7# fi fi ’ I X /A5 2 J8T I /84t 3.3[8.900 29.37
384| A i 52 X /5 2 /8 At /84 0.9]8.900 8.01
385|%% 148 ’ I X /A3 2 J8T Ik /84 3.2/8.900 28.48
386|277 & R IX A 2 [37 ok /84E 2.1/8.900 18.69
387\ J7 4# R IX A 2 [HT Kok /84t 0.9(8.900 8.01
388| ik Bt FIIX A 2 T Rk /84 1(8.900 8.9
389| [ 47 = X /A 2 [ R /84 2.1/8.900 18.69
390(% 4 X /5 2 8 A /84 0.6/8.900 5.34
3913 iy RN IX /A 2 [ R /84t 3.2[8.900 28.48
392 B % R IX A 2 [#T ok /84E 0.6/8.900 5.34
393|% 7% ’ I X /A3 2 [8T Ik /84t 2.7|8.900 24.03
394 F 7 2 X /5 2 /8 A /84 2.6/8.900 23.14
395| F [H 7 ’ I X /A3 2 J8T Ik /84t 3.6/8.900 32.04
396| £ 5218 R IX A 2 [H7 ok /84E 2.9/8.900 25.81
397|# 7k RN X /A 2 [ RA /84t 2(8.900 17.8
398| % fi W X A 2 T Rk /84 1.2(8.900 10.68
399| K = RN IX /A 2 [ R84k 3(8.900 26.7
400| 1] == X /5 2 /8 At /84 2.6/8.900 23.14
401|#p5 A X /A 2 [ R /84t 2.9(8.900 25.81
A402| vt [ X 3 2 8 At /84 3.4/8.900 30.26




403| & ik #) X /A 2 [ R84k 2.1/8.900 18.69
404| FH #t f R IX A 2 [H7 ok /8 4k 2.6(8.900 23.14
405 H = 4> RN X /A 2 [ R /84t 3.1{8.900 27.59
406| F ¢ 1 X 5 2 8 At /84 3.2/8.900 28.48
407\ k53 ’ I X /A3 2 J8T I /84t 4.5(8.900 40.05
408|251 X /5 2 /8 At /84 2.2/8.900 19.58
409|251 i ’ I X /A3 2 JHT IR /84t 0.9|8.900 8.01
A410| 2= 4H #k B X /58 2 /8 At /84 1.3(8.900 11.57
4117k At X /A 2 [ R /84t 3.8[8.900 33.82
412|745 FIIX A 2 T Rk /84 3.2(8.900 28.48
413| [ =75 X /A 2 [ R84k 2.2/8.900 19.58
A14| X /5 2 /8 At /84 2.8/8.900 24.92
415|igyEatk RN X /A 2 [ R /84t 1.2(8.900 10.68
A16| 1y X 2 /8 At /84 4.6/8.900 40.94
Y E ’ I X /A5 2 J8T I /84t 1.55/8.900 13.8
418|728 X /5 2 /8 At /84 1.4{8.900 12.46
A19| BAZE R ’ I X /A3 2 J8T Ik /84 2.4/8.900 21.36
420[#H P 75 R IX A 2 [37 ok /84E 1.6(8.900 14.24
421 F e RN X /A 2 [ R /84t 0.7/8.900 6.23
422|757k R IX /A 2 [HT b /8 4L 4.7|18.900 41.83
423\ R A R IX A 2 [3T Kok /84E 3.4/8.900 30.26
424 A 7E 5 R IX A 2 [HT b /8 4k 2.4(8.900 21.36
A25| [ /N EE X/ AE 2 [H AT /84t 2.8(8.900 24.92
426| H i #% R IX A 2 [#T ok /84E 2.4(8.900 21.36
427|#H IH i ’ I X /A3 2 [8T Ik /84t 4.7|18.900 41.83
428 5k £ X /5 2 /8 A /84 4.8|8.900 42.72
429 {1 & w1 X /A% 2 [ET R84t 3.2[8.900 28.48
430\ v 45 B X /5 2 /8 A /84 3.8/8.900 33.82
431\ = RN X /A 2 [ RA /84t 1.1{8.900 9.79
432| 7tk 4> ’ )1 X /A 2 [8 R /8 4L 0.4/8.900 3.56
433| 7tk RN IX /A 2 [ R84k 2(8.900 17.8
A34| [ 25 2% R IX A 2 [H7 ok /8 4k 1/8.900 8.9
435| F [ B X /A 2 [ R /84t 3.66(8.900 32.57
436|255 X 3 2 8 At /84 4.1]8.900 36.49




437| 3tk tE X /A 2 [ R84k 3(8.900 26.7
438|315 X /5 2 8 A /84 1.6(8.900 14.24
439\ 77k 4= ’ I X /A 2 [8 R /8 4L 2.6/8.900 23.14
440 75, 1 2% R IX A 2 [HT ok /8 4k 3(8.900 26.7
441|046 ’ I X /A3 2 J8T I /84t 2.6/8.900 23.14
A42| B RE R IX A 2 [#T ok /8 4k 3.3/8.900 29.37
443(#734l ’ I X /A3 2 JHT IR /84t 3(8.900 26.7
444[ B R IX A 2 [37 ok /84E 2.3/8.900 20.47
A45| 1B 2% )X /A8 2 [ Rk /84t 2(8.900 17.8
A46| 0y A FIIX A 2 T Rk /84 4.2|8.900 37.38
447\ At X /A 2 [ R84k 3.73(8.900 33.2
448) i i 1E R IX A 2 [H7 b /8 4k 1.4(8.900 12.46
4495 rh 7% RN X /A 2 [ R /9%t 3.8[8.900 33.82
450| ¥ & M R IX A 2 [H7 ok /94E 4.8(8.900 42.72
A51|Zs 4 B ’ I X /A5 2 J8T IR /94 2.3/8.900 20.47
A52| 254 b X /5 2 /8 At ot 2.3/8.900 20.47
453|3k 4 ’ ) X /A3 2 JHT IRk /94 3.3/8.900 29.37
ASA| k7 1EA B X /5 2 /3 At ot 1.6(8.900 14.24
455[%; 1E48 B IX /A5 2 [ Rk /94t 2.2|8.900 19.58
456|171 4= R IX /A 2 [3T b /94E 2.5(8.900 22.25
457 7k D Fa ) IX S FE 2 [ A /94E 7.5(8.900 66.75




SFRFR— R AN (1K) (20235 %) BE&0 P RATHARER

FTHUHL X 2 FR: BEHFAY HH#H: 2023-07-10 &it: 442/ BER:
13,137.69
7 JECR )4 FAE 28R I D AR () 0 s 74 MU 4 %1(JT)
1,476.120 8.900 13,137.69
AR A )X /A3 2 JHER A /14 2.98.900 25.81
PAER Y R IX A 2 /3R /14 1.43(8.900 12.73
3| T B X /A% 2 B R /14 7.03(8.900 62.57
4|44 )87 B R IX A 2 /3R /14 3.1{8.900 27.59
5|4 ) X /5% 2 3R /14 3.58|8.900 31.86
6| %z 2 4t X /S8 & JHEe A /14 3.58|8.900 31.86
7| EEE ’ )X /A5 2 [HE A /14 3.82(8.900 34
S Ee= R IX A 2 /3R /14 2.9(8.900 25.81
9| Fi Kk 3L F I X /A3 2 JHENR RS /14 0.96(8.900 8.54
10| # 7k B R IX A 2 /3R /14 5.11{8.900 45.48
11| 3% ki B X /A5 2 JHER A /14 3.12(8.900 27.77
12) 7t A R IX A 2 /3R /14 4.36/8.900 38.8
13| 3% ey B X /A0 35 2 JHEMR RS /14 3.67|8.900 32.66
143 2 X /A5 2 3R /14 2.05(8.900 18.25
15[ 4N )1 X /A 2 B R /14 3/8.900 26.7
16|70 A B IX /A5 2 3R /14 2.76(8.900 24.56
17|34 )X /A3 2 JBE AT /14 3.33|8.900 29.64
18| o2k B IX /A5 2 B A /14 3.15/8.900 28.04
19| # AGHT F I X /A3 2 JHENR RS /14 5.12[8.900 45.57
20| k4 R IX A 2 3R /14 7.58(8.900 67.46
21|k A4 )1 X /A 2 B RS /14 3.18|8.900 28.3
22| KT X /5 & JHEE R /14 4.22(8.900 37.56
23| E B ’a )1 IX /3% 2 A /14 4.15(8.900 36.94
24| 5 I IX /A5 2 3R /14 4.93|8.900 43.88
25[3E e A B IIX S A SE 2 3R 14 4.71(8.900 41.92
26|75 5yt I IX /A5 2 3R /14 2.22(8.900 19.76
YIESS'a B X /A 2 JHEe R /14 5.21/8.900 46.37
28| i B IX /A5 2 B A /14 2.69(8.900 23.94




29| B ) X /455 2 3R /14 4.04/8.900 35.96
30| 2=t T ’ I XA E 2 JHE R /14 5.24(8.900 46.64
314 F I XA 2 JHEE RS /14 3.4(8.900 30.26
32| {5 ik R IX A5 2 /3R /14 3.58(8.900 31.86
33|yttt 32 X /A% 2 J3E A /14 3.29(8.900 29.28
34|04 4= R IX A 2 3R /14 3.16(8.900 28.12
35| &k B ’ )1 X /3% 2 A /14 3.94(8.900 35.07
36| k4 X /5 & JHEe R /14 1.22|8.900 10.86
37| K A )X A3 2 JHR A /14 1.57|8.900 13.97
38| FEE X /A5 2 JHER A /14 0.9(8.900 8.01
39| fit Hf] B )IIX /3% 2 3 /244 5.72|8.900 50.91
40| [ 5 ST R IX /A 2 [ 3R /24t 3.06(8.900 27.23
A1\ 5 )X /A3 2 J B A /241 3.92|8.900 34.89
42| X1 KAR ’ I X /A E 2 [ B R /24 3.77(8.900 33.55
43[ x5 A F I X /A58 2 JHENR RS /244 3.82(8.900 34
AA| | 1F i X /S & JHEE A 24 2.35|8.900 20.92
45|38 A )X /A 2 JHER A /24t 4.94/8.900 43.97
A6| [ £ X /25 & JHEE A 24 3.27|8.900 29.1
47| tE A )X /A3 Z JHR A /24t 2.89|8.900 25.72
48|14 7% X /A5 2 3R 24 4.71/8.900 41.92
49| =K 7 B IIX S A SE 2 3R 24 1.65|8.900 14.69
50| ik 5 I IX /A5 2 3R 24 2.59(8.900 23.05
51|47 50 °F X /355 2 (3 A /241 2.598.900 23.05
52| ¥ik4E B IX /A5 2 B R 24 4.59|8.900 40.85
53| fFE R F I X /A3 2 JHENR RS /244 3.4(8.900 30.26
S54) 5 #k R IX A 2 3R /24 4.98|8.900 44.32
55|24t ’ )1 X /3% 2 [ A /24 0.8(8.900 7.12
56|23 4 X /5 & JHEE A 24 4.45(8.900 39.61
57| 51118 B IIX S A SE 2 3R 24 4.98|8.900 44.32
58| 5 114 X /A5 & 3R 24 4.15|8.900 36.94
593k Zbf B IIX S A SE 2 3R 24 3.61/8.900 32.13
60| 1] A B I IX /A5 2 B R 24 4.16|8.900 37.02
611 Kt B X /A 2 [P 24 3.71(8.900 33.02
62|15 B IX /A5 2 B R 24 3.77|8.900 33.55




63| & £ A B IIX S A SE 2 3R 24 4.08|8.900 36.31
64| T34 ’ I XA E 2 [ B R /24 2.89(8.900 25.72
65|k & pE X /A5 2 [ R 24 4.08(8.900 36.31
66| 5 1114 ’ I X /A E 2 [ B R /24 4.86(8.900 43.25
UETES F I X /A3 2 JHENR RS /244 3.92(8.900 34.89
68|25~ R IX A 2 3R /24t 2.5(8.900 22.25
69| J S 4R ’ )1 X /3% 2 A /24 2.89(8.900 25.72
70| 2= 4 R IX A 2 [ 3R /24t 3.53(8.900 31.42
MBS RG] B IIX S ASE 2 3R 24 3.91/8.900 34.8
72|54 R IX A 2 [ 3R /24t 2.59(8.900 23.05
73| it 5 B X /3% 2 [HEe R /24 2.5/8.900 22.25
74| e R IX /A 2 [ 3R /24t 2.35(8.900 20.92
75|74 ¢ B I X /A0 2 2 JHEME R /244 3.83(8.900 34.09
76| X1 1E 4 ’ I X /A E 2 [ B R /24 5.74(8.900 51.09
77|50 A )X /A3 2 JHER A J24E 3.7|8.900 32.93
78| il fy R IX A 2 /3R /34 3.66(8.900 32.57
79| FiEs ’a )1 X /3% 2 A /34 2.75(8.900 24.48
80| it = % R IX A 2 /3R /34 3.69(8.900 32.84
81|k [H 4k ’a )1 IX /3% 2 A /34 4.82|8.900 42.9
82| it if ’ I X /A 2 [ B R /34 6.45(8.900 57.41
83| F v 4 F )1 IX /3% 2 A /34 3.26(8.900 29.01
84|47 2 HH R IX /A 2 [ 3R /34 3.33(8.900 29.64
85| F 5 X /S8 2 3T /34 4.51/8.900 40.14
86| T 54 I IX /A5 2 3R /34 2.75(8.900 24.48
87| HA % F I X /A3 2 JHENR RS /344 8.09(8.900 72
88| HH 7 it R IX A 2 [ 3R /34 3.33(8.900 29.64
89| 7k 4 ’ )1 X /F 3% 2 [ A /34 3.58(8.900 31.86
90| F 7 % R IX A 2 /3R /34 2.19(8.900 19.49
91[E {1 Fa )1 X /3% 2 A /34 3.31(8.900 29.46
N2 M FEE ’ I X /A E 2 [ B R /34 3.16(8.900 28.12
93| bk iEAh F I X /A3 2 JHENR RS /344 2.47(8.900 21.98
94| 7 24 i R IX /A 2 [ 3R /34 3.29(8.900 29.28
953 H1 ¢ R IX A 2 J B /34 4.52(8.900 40.23
96| 4> == 1Y I IX /A5 2 B R /34 2.9(8.900 25.81




97| F 248 B X /A% 2 B R /34 1.13|8.900 10.06

98|15t 2 4 I IX /A5 2 B R /34 1.79|8.900 15.93

99| it 2 4 R IX 0 2 JHEE A /34 2.66(8.900 23.67
100| 5f 2 1 B IX /A5 2 3R /34 2.19(8.900 19.49
101y 5 % F I X /A3 2 JHENR RS /344 2.75(8.900 24.48
102| $k 33 B X /S 2 JHEE AT /34 2.1/8.900 18.69
10332 rf B ’ )1 IX /F 3% 2 A /34 5.35(8.900 47.62
104| % 5 2% X /58 & JHEE A /34 2.29|8.900 20.38
105| & f1- 2 B IIX S A SE 2 3T /34 2.78|8.900 24.74
106 2.7 £ X JF S 2 JHEE A /34 2.87(8.900 25.54
107| £ 48 1 F )1 X /3% 2 AT /34 3.05(8.900 27.15
108| 4 I IX /A5 2 B R /34 4.55|8.900 40.5
10| & H- 5 R IX A 2 [ B A /34 2.35(8.900 20.92
110| F %24 B IX /A5 2 3R /34 2.07(8.900 18.42
111t e o F I X /A3 2 JHENR RS /344 2.1{8.900 18.69
112| 2 5 1 X /S & JHE A /34 2.28|8.900 20.29
113| ¥ /5K ’a )1 X /3% 2 A /34 3.91(8.900 34.8
114| 8 K A X /5 2 JHEE T /34 2.93|8.900 26.08
115|3% 7k h B X /A% 2 B R /34 4.2|8.900 37.38
116| (L 16 X /A5 2 3R /34 4.02|8.900 35.78
117| 3k 2 Bf B X /A% 2 B R /34 2.78|8.900 24.74
118| 5k %5 I IX /A5 2 3R /34 4.24|8.900 37.74
119| FAE M R IX /A 2 [ B A /34 3.85(8.900 34.27
120|325 75 I IX /A5 2 3R /34 2.14(8.900 19.05
1217k f1- 4> F I X /A3 2 JHENR RS /344 2.35(8.900 20.92
122|% 1F 4> X JF S & JHE A /34 2.62|8.900 23.32
123|704 % ’ )1 X /F 3% 2 [ A /34 5.79(8.900 51.53
124|714t X /5 & JHEE A /34 2.04/8.900 18.16
125|905 )1 X /A ¥ 2 [HEE AT /34 3.28|8.900 29.19
126| F A5 X /A5 2 3R /34 2.95(8.900 26.26
127| F 175 B X /A% 2 B R /34 2.38(8.900 21.18
128t 7k I IX /A5 2 B R /34 2.78(8.900 24.74
129| & (- vp B IX/ASE 2 /3R /34 2.19(8.900 19.49
130| FF I IX /A5 2 B R /34 2.65(8.900 23.59




131k A ’ )1 X /3% 2 A /34 2.1(8.900 18.69
132| A4 I IX /A5 2 B R /34 2.19(8.900 19.49
133 i 4 H R IX 0 2 JHEE A /34 3.62(8.900 32.22
134| & ik ’ I X /A E 2 [ B R /34 2.8(8.900 24.92
135 i fi 15 F I X /A3 2 JHENR RS /344 3.66(8.900 32.57
136| F 45| R IX A 2 3R /34 0.92[8.900 8.19
137|384 1, ’ )1 IX /F 3% 2 A /34 1.8/8.900 16.02
138| £k R IX A 2 3R /44t 2.05(8.900 18.25
139|3 k & ’a )1 IX /3% 2 [ A a4t 2.83(8.900 25.19
140| & 7k ) ’ I X /A 2 [ B R /44t 2.83(8.900 25.19
1413 7k i A )X /A3 2 JHEMR AT /a4t 2.83|8.900 25.19
142[HTE 45 ’ I X /A 2 [ B R /44 3.9(8.900 34.71
143| i B & )X /A3 2 B A /A%t 3.14(8.900 27.95
144| s R IX A5 2 3R /44t 2.82[8.900 25.1
145[ {14 ’ I X /A58 2 JHENR RS /44t 3.14(8.900 27.95
146| 5L R IX A 2 3R /a4t 3.14(8.900 27.95
147|854 4 A )X /A3 2 JHEMR A 144t 3.14(8.900 27.95
148| At A F ) IX A 2 3R /44t 3.14(8.900 27.95
149|715 2t B X /3% 2 [HEe A /a4t 2.36|8.900 21
150 & {1- 4 ’ I X /A 2 [ B R /44 3.14(8.900 27.95
IS1{EE R ’ )1 IX /3% 2 [ A 44t 2.75(8.900 24.48
152|#RH % ’ I X /A E 2 [ B R /44 3.14(8.900 27.95
153 |3 fi g X /A SE 2 JHEE A /4t 4.5(8.900 40.05
154 i 3% B IX /A5 2 B A /a4 3.14/8.900 27.95
155| kit 4 B )1 X /4534 2 JHEWE k] /a4t 2.19(8.900 19.49
156|#H 51 T R IX A5 2 3R /44t 3.06/8.900 27.23
157|178 75 B X /A% 2 B R /a4t 1.92|8.900 17.09
158[AEAL P F ) IX A 2 3R /44t 4.55|8.900 40.5
159\ #ik 4 ’a )1 IX /3% 2 [ A a4t 3.14(8.900 27.95
160|723y 1k R IX A 2 [ 3R /a4t 6/8.900 53.4
161| 7 2 B IIX S A SE 2 3R a4 2.36(8.900 21
162|785 75 R IX A 2 JHE R /44t 3.14(8.900 27.95
163|154 X /A5 2 JHE R a4t 2.36/8.900 21
164 11 R X A5 2 3R /44t 2.24(8.900 19.94




165| 3 SR AR F )1 IX /3% 2 [ A 44t 2.36/8.900 21
166|35t ’ )X/ E 2 JHER /4t 2.36|8.900 21
167|245 % R IX 0 2 JHEE A 44t 2.36/8.900 21
168[# flife ’ I X /A E 2 [ B R /44t 2.36(8.900 21
169 2 N4 F I X /A58 2 [HENR RS /44t 3.14(8.900 27.95
Y ERL R IX A 2 3R /a4t 2.36(8.900 21
1712 4% A )X /A3 2 JHER A 144t 2.22|8.900 19.76
172 s fl R IX A 2 3R /44t 2.44(8.900 21.72
173| BB B IIX S A SE 2 3R a4t 2.36(8.900 21
174| A af % ’ ) X /5 2 JHER Jatt 2.36/8.900 21
175| 8 rh 2 B IIX S A SE 2 3R a4 2.97|8.900 26.43
176|204 5 R IX A 2 [ 3R /44t 3.9(8.900 34.71
177|356 i R IX A 2 [ B A f 44t 2.81/8.900 25.01
178| & fliAH ’ I X /A E 2 [ B R /44t 3.14(8.900 27.95
179 #mA F )1 X /3% 2 [ A a4t 2.36/8.900 21
180 #H 51 B R IX A 2 3R /a4t 2.09(8.900 18.6
181| g BA A A )X /A3 2 JHEMR A 144t 2.33|8.900 20.74
182| 4 4R 2% X /5 & JHEE A a4 2.22|8.900 19.76
183| & B B X /3% 2 [HEe A /a4t 0.76(8.900 6.76
184| b4 X /A5 2 3R /a4 4.07|8.900 36.22
185| 2 yp ’ )1 IX /3% 2 [ A 44t 2.05(8.900 18.25
186|375 14 1] ’ ) X /5 2 JHER /4t 4/8.900 35.6
187|854 R IX A 2 [ B A J 44t 4.21(8.900 37.47
188|352 ft ’ ) X /A E 2 JHER /4t 2.36/8.900 21
189[ £ Xt F I X /A3 2 JHENR RS /a4t 3.85(8.900 34.27
190| & Fitx R IX A5 2 3R /44t 2.6/8.900 23.14
19115 Ji ’ )1 X /3% 2 [ A 44t 2.68(8.900 23.85
192|917 ¥ F ) IX A 2 3R /44t 2.68(8.900 23.85
193| 5 /i ’a )1 IX /3% 2 [ A a4t 1.97/8.900 17.53
194|554 X /A5 2 3R /a4 3.14/8.900 27.95
195 F 2 7 ’ )1 IX /3% 2 A 44t 2.83(8.900 25.19
196|: 1F I X /A5 2 B A /a4 3.14/8.900 27.95
197| EMA8 R IX A 2 JHEE A 44t 0.76(8.900 6.76
198) BHE 3 ’ ) X/ E 2 [ PR /4t 2.36[8.900 21




199|#7 IF 3% F )1 IX /3% 2 [ A 44t 4.18|8.900 37.2
200|450 7% I IX /A5 2 B A /a4 0.92/8.900 8.19
201 wite X/ ASE 2 /3R /54 3.12/8.900 27.77
202| 5yt ’ I X /A E 2 [ B R /54 3.3[8.900 29.37
203| F 3 F I X /A3 2 JHENR RS /544 4.5(8.900 40.05
204| Foe 4 R IX A 2 3R /54 2.34(8.900 20.83
205 [¢: A ’ )1 X /3% 2 A /54 3.38(8.900 30.08
206 [1fs i B X /58 & JHEE A /5 4 2.64/8.900 23.5
207|352 4 ’a )1 IX /3% 2 A /54 3.75(8.900 33.38
208| & {h {1 ’ I XA 2 [ B R /54 3.3[8.900 29.37
209| F a4 F )1 X /3% 2 AT /54 4.02|8.900 35.78
210| J7 41 1k R IX /A 2 [ 3R /54 2.5(8.900 22.25
211|581y R IX /FE 2 [ A /54 3.38(8.900 30.08
212| [ 5 W I IX /A5 2 B A /54 3.18|8.900 28.3
213| R W R F I X /A3 2 JHENR RS /544 2.42(8.900 21.54
214| 2 % R IX A 2 /3R /54 2.57(8.900 22.87
215| & fliyit ’ )1 X /3% 2 [ A /54 3.38(8.900 30.08
216| & 5 R IX A 2 /3R /54 4(8.900 35.6
217| k3% 1 ’a )1 IX /3% 2 A /54 2.91(8.900 25.9
218| ik tE ’ I X /A E 2 [ B R /54 2.33(8.900 20.74
219| F 1k F )1 IX /3% 2 [ AT /54 3.86(8.900 34.35
220|165 8 7t I IX /A5 2 B A /54 1.56/8.900 13.88
2211y 5. R IX /A 2 [ A /54 2.42(8.900 21.54
222|6 BAG I IX /A5 2 B A /54 1.45|8.900 12.91
223 iy gyt F I X /A3 2 JHENR RS /544 3.3(8.900 29.37
224\ g7 8 7% X/ F S 2 JHE A /5 4t 2.34/8.900 20.83
225|324 ’ )1 IX /3% 2 A /54 2.75/8.900 24.48
226|3 2 H X /5 & JHEE A /5 4t 2.94/8.900 26.17
227| ¥ B ’a )1 IX /3% 2 [ A /54 2.83(8.900 25.19
228| W L AR X /A5 2 3R A /54 1.86/8.900 16.55
229| I B A ’ )1 IX /3% 2 [ AT /54 2.39(8.900 21.27
230| iy ] k. I IX /A5 2 B A /54 2.22(8.900 19.76
231 gy g A8 R IX /FE 2 [ B A /54 2.65(8.900 23.59
232|1 R I IX /A5 2 B A /54 3.23/8.900 28.75




233 gy i - F )1 IX /3% 2 [ AT /54 2.33(8.900 20.74
234 F e I IX /A5 2 B A /54 2.73(8.900 24.3
235 %1 IF i3 R IX /A 2 [ B AT /54 3.64(8.900 324
236|315 I IX /A5 2 B A /54 4.16|8.900 37.02
2373 F I X /A3 2 JHENR RS /544 3.3(8.900 29.37
238|221 X/ F S 2 JHE A 64t 3.18|8.900 28.3
239|# [E £ ’ )1 IX /3% 2 [ A /64t 2.2(8.900 19.58
240|523 X /5 2 JHEE A 64t 4.14(8.900 36.85
241\ X3 J5 2% ’ )1 X /3% 2 [ A /64t 3.4(8.900 30.26
242| 25 [ X /A5 2 3R 64t 3.24/8.900 28.84
243| 2 s B X /A% 2 B R /64t 4.78(8.900 42.54
244|755 i I IX /A5 2 3R 64t 3.02/8.900 26.88
24525 iz 4 R IX A 2 [ A /64t 3.8(8.900 33.82
246|725 jii %% B IX /A5 2 B A 64t 5.11|8.900 45.48
247| B HEA ’ I X /A3 2 JHENR RS /644 4.22|8.900 37.56
248| 25 [ 1k X /5 2 JHE A /64t 5.64/8.900 50.2
249 kR 38 )1 X/ ¥ 2 [HEE T /64 5.73(8.900 51
250| = 5% X /258 2 JHEE A 64t 2.85|8.900 25.37
251 [ 79T B X /A% 2 B R /64t 4.84(8.900 43.08
252| 4 L X /A5 2 3R 64t 2.85(8.900 25.37
253| [t 5 1k m )1 IX /3% 2 [ A /64t 4.06(8.900 36.13
254 Y 1] I IX /A5 2 3R 64t 4.99|8.900 44.41
2553 Y 4R R IX A 2 [N A /64t 2.8(8.900 24.92
256| M1k I IX /A5 2 B A 64t 3.47|8.900 30.88
257\ KR 7 ’ I X /A3 2 JHENR RS /644 2.85(8.900 25.37
258|Zs i fiti X JF S 2 JHE A /64t 3.8/8.900 33.82
259| 41 B F I X /A3 2 JHENR RS /644 2.77/8.900 24.65
260|375 i X /5 2 JHEE A 64t 3.64/8.900 32.4
261|721k w1 X /3% 2 [ A /64t 3.99(8.900 35.51
262 F 2 X /A5 2 3R 64t 3.8(8.900 33.82
263\ 0k F I X /A3 2 [HENR RS /644 2.77/8.900 24.65
264|115 W I IX /A5 2 B A 64t 4.76|8.900 42.36
265|5 5z R IX A 2 [N A /64t 3(8.900 26.7
266| 5L [H 75 I IX /A5 2 B A 64t 2.85(8.900 25.37




267|345, B X /A% 2 B R /64t 2.9(8.900 25.81
268|115 I IX /A5 2 B A 64t 3.6(8.900 32.04
269| 45t/ R IX A 2 [N A /64t 2.69(8.900 23.94
270| 4% it B IX /A5 2 B A 64t 2.824/8.900 25.13
271 #75k RE F I X /A3 2 JHENR RS /644 3.122[8.900 27.79
272\ ¥ i X/ F S 2 JHE A 64t 2.85|8.900 25.37
273|751 B X /A% 2 [ B R /64t 5.56|8.900 49.48
2741 1R X /5 2 JHEE A 64t 3.804(8.900 33.86
275|221y ’ )1 X /3% 2 [ A /64t 5.67(8.900 50.46
276| 4z 52 1] X /A5 2 3R 64t 2.07(8.900 18.42
277| 4k F )1 IX /3% 2 [ A /64t 3.66(8.900 32.57
278| 4 Mot I IX /A5 2 3R 64t 2.69(8.900 23.94
279| 2= R IX A 2 [ A /64t 6.19(8.900 55.09
280|352 2% B IX /A5 2 B A 64t 3.7/8.900 32.93
281| K AR 1 ’ I X /A3 2 JHENR RS /644 5.31(8.900 47.26
282| b X /5 2 JHE A /64t 2.57|8.900 22.87
283|345 e 4L B IIX /A SE 2 3R 64t 3.16|8.900 28.12
284| = ¢ B X /258 2 JHEE A 64t 3.72|8.900 33.11
285( 4> W, ’ )1 X /3% 2 [ A /64t 3.02(8.900 26.88
286|178y bk X /A5 2 3R 64t 4.92|8.900 43.79
287 5 5 B X /A% 2 B R /64t 2.07|8.900 18.42
288|257 7% I IX /A5 2 3R 64t 3.96|8.900 35.24
289| 45t 7t R IX A 2 [N A /64t 2.69(8.900 23.94
290 3 B % ’ )X /A E 2 JHER /64E 1/8.900 8.9
291 Eav A A )X /A3 Z JHER A /74 4.48|8.900 39.87
292| F 524 X /S & JHEE A )74 6.7|8.900 59.63
293 T ’ )1 X /3% 2 [ A /74 5.39(8.900 47.97
294|725 X /S & JHEE T 74 3.51/8.900 31.24
295 fii 2% B IIX S ASE 2 3R 74 2.7/8.900 24.03
296| F .00 I IX /A5 2 3R 74 3.1(8.900 27.59
297| F .0 f B IIX S A SE 2 3R 74 3.19/8.900 28.39
298| FHH A B IX /A5 2 B R 74 3.92/8.900 34.89
299|: J F R IX FE 2 [ B A /74 3.24(8.900 28.84
300| Ft 54k B IX /A5 2 B A 74 2.14(8.900 19.05




301|325 5% B IX S ASE 2 3R 74 3.47|8.900 30.88
302 Fai ik B X /A5 2 B R 74 2.34(8.900 20.83
303| FELIT ’ ) X /A5 2 [HEA /74 5.1/8.900 45.39
304| Bt B IX /A5 2 3R 74 2.94(8.900 26.17
305| F kA F I X /A3 2 JHENR RS /744 3.17(8.900 28.21
306|428 X /S & JHE A )74 3.49|8.900 31.06
307| 2 &5 ’ )1 X /3% 2 A /74 3.09(8.900 27.5
308| F [ i X /5 & JHEE A 74 3.24/8.900 28.84
309| g [ 4> B IIX S ASE 2 3R 74 3.69/8.900 32.84
310|712 I IX /A5 2 B A 74 3.32/8.900 29.55
311|416 B IIX S A SE 2 3R 74 3.47|8.900 30.88
312\ YE AR B IX /A5 2 B R 74 2.06(8.900 18.33
313|F A3t X /4355 2 3 A )74 2.86/8.900 25.45
314| 55 B B IX /A5 2 3R 74 2.46(8.900 21.89
315| B A4 X /A% 2 JHE ] /74 2.75|8.900 24.48
316|445t X /S & JHEE A )74 2.7/8.900 24.03
317|#x 4 B 1 X /A3 35 2 JHEMR RS /740 4.32|8.900 38.45
318|725 X /25 & JHEE A )74 1.48/8.900 13.17
319| B BIIX /3% 2 3 /74 4.25|8.900 37.83
3203 Kk A X /A5 2 3R 74 2.08(8.900 18.51
321|akf-4R A )X /A3 2 JHER A /74 4.25|8.900 37.83
322|535 B IX /A5 2 B R 74 1.78|8.900 15.84
323|[% k2 B X /A 2 JHEe R 74 2.79|8.900 24.83
324\ ¥ 7k A5 I IX /A5 2 B R 74 2.79(8.900 24.83
325| FEBEAE F I X /A3 2 JHENR RS /744 3.07(8.900 27.32
326| Rt R IX A 2 3R /84t 3.58(8.900 31.86
327|agf— 28 ’ )1 X /3% 2 /A /84t 3.48(8.900 30.97
328| k{1 X /5 & JHEE AT /84 3.4/8.900 30.26
329|725 4> B IIX S AE 2 3T /84 3.51/8.900 31.24
330( 3 A X /A5 2 3R /84 3.23/8.900 28.75
331t ’ )1 X /3% 2 B A /84t 5.19(8.900 46.19
332|Zs {4yt I IX /A5 2 B A /84 3.47|8.900 30.88
333|247 R IX A 2 [ B A /84t 3.66(8.900 32.57
334| [ Kk A I IX /A5 2 B A /84 7.37|8.900 65.59




335|783 ’ )1 IX /F 3% 2 [ A /84t 3.18(8.900 28.3
336| [ I IX /A5 2 3R /84 3.38|8.900 30.08
337|ak K 1k R IX A 2 [ 3 A /84t 3.15(8.900 28.04
338| 5K ki) ’ I X /A E 2 [ B R /84 3.41(8.900 30.35
3395k A 4H F I X /A3 2 JHENR R /844 3.33(8.900 29.64
340 7k 3 R IX A 2 3R /84t 5.69(8.900 50.64
341\ gz ’ )1 X /4% 2 [ A /84t 3.88(8.900 34.53
342|274 R IX A 2 3R /84t 4(8.900 35.6
343|787 ’a )1 IX /3% 2 [ A /84t 4.04/8.900 35.96
344| LA ’ I XA 2 [ B R /84 4.81(8.900 42.81
345| pk -3 m )1 IX /3% 2 [ AT /84t 4.76/8.900 42.36
346|141k I IX /A5 2 3R /84 4.52|8.900 40.23
347| i f-1E R IX A 2 JHEE A /84t 4.22(8.900 37.56
348| x4k B IX /A5 2 3R /84 3.48|8.900 30.97
349|723 55 F I X /A3 2 JHENR RS /844 2.05(8.900 18.25
350 2 1% R IX A 2 3R /84t 5.94(8.900 52.87
351 A ’ )1 X /4 3% 2 [ A /84t 2.29(8.900 20.38
352|243 R IX A 2 3R /84t 4.99|8.900 44.41
353| F /N ’a )1 IX /3% 2 [ /84t 5.19(8.900 46.19
354| 2R ’ I X /A 2 [ B R /84 3.88(8.900 34.53
355| ZEE m )1 IX /3% 2 [ A /84t 6.21(8.900 55.27
356|724/ B, I IX /A5 2 B A /84 5.43|8.900 48.33
357|254 [ R IX A 2 JHENE A /84t 6.02(8.900 53.58
358 [ ik A B IX /A5 2 B A /84 6.11/8.900 54.38
359 [ )t 24 F I X /A3 2 JHENR RS /844 5.41(8.900 48.15
360| pR A4l R IX A 2 3R /84t 3.57(8.900 31.77
361) pRiEET ’ )1 X /3% 2 /A /84t 2.29(8.900 20.38
362| LI F ) IX A 2 /3R /84t 2.05(8.900 18.25
363| bk ’a )1 IX /3% 2 [ A /84t 3.71(8.900 33.02
364|795 % X /A5 2 3R /84 3.71/8.900 33.02
365|154 ’ )1 X /3% 2 B A /84t 3.71(8.900 33.02
366| Ft {13 I IX /A5 2 B A /84 3.71/8.900 33.02
367| phkif o8 R IX A 2 [ B A /84t 2.47(8.900 21.98
368| ¥ 3L ’ I X /A E 2 [ B R /94 3.24(8.900 28.84




369|175 3L ’ )1 IX /3% 2 [ A /94t 5.5(8.900 48.95
370| B EH S I IX /A5 2 B A /94 1.88(8.900 16.73
371 [ BAR R IX /A 2 [ B A /94t 4.22(8.900 37.56
372| FE I IX /A5 2 B R /o4 2.54(8.900 22.61
373| £ H i F I X /A3 2 JHENR RS /94t 2.54(8.900 22.61
374| &5 H R IX A 2 3R /94t 5.04(8.900 44.86
375|404 ik ’ )1 IX /3% 2 A /94t 3.12[8.900 27.77
376| [ Ak ik X /5 & JHEE A 94t 2.91|8.900 25.9
377\ W Ak A B X /A% 2 B R /94 6.16|8.900 54.82
378| Frp H: X /A5 2 3R /94 1.95|8.900 17.36
379\ Fk B IIX S A SE 2 3R /94 2.15|8.900 19.14
380| 2= 7k} I IX /A5 2 B R /94 3.78|8.900 33.64
381| F bk R IX A 2 [ A /94t 3.27(8.900 29.1
382| F g I IX /A5 2 B R /o4 3.6(8.900 32.04
383| R fh 2% F I X /A3 2 JHENR RS /94t 2.98(8.900 26.52
384 4y X /S 2 JHEE A 94t 2.95|8.900 26.26
385| [ 55 & ’ )1 IX /3% 2 [ A /94t 2.38(8.900 21.18
386| [ . 1t X /5 & JHEE A 94 5.06|8.900 45.03
387| % & ’a )1 IX /3% 2 [ A /94t 4.19|8.900 37.29
388| Ak X /A5 2 3R /94 3.16|8.900 28.12
389| ¥ .1 B IIX S A SE 2 3R /94 3.2(8.900 28.48
390 ¢ L 75 I IX /A5 2 B A /94 2.18(8.900 19.4
391|{ JH5 B IX/ASE 2 /3R /94t 2.98(8.900 26.52
392| [T Rl I IX /A5 2 B R /94 4.33|8.900 38.54
393| % F I X /A3 2 JHENR RS /94t 4.09|8.900 36.4
394| % 7k BH X /S 2 JHEE A 94t 3.46|8.900 30.79
395| [ 7k M ’ )1 X /3% 2 [ A /94t 2.91(8.900 25.9
396| [ ¢ B X /58 & JHEE A J9 4 2.81/8.900 25.01
397| Bk Al ’a )1 X /3% 2 [ A /94t 3.75(8.900 33.38
398| j3 K i X /A5 2 3R /94 4.26|8.900 37.91
399\ ™ J1 45 ’ )1 IX /3% 2 [ A /94t 5.42(8.900 48.24
400| g 2, 45 F ) IX /A 2 [ 3R /94t 5.64(8.900 50.2
401|534 R IX A 2 [ A /94t 1.6/8.900 14.24
402| F [FHF I IX /A5 2 B A /o4t 1.8|8.900 16.02




403|755k 3 B X /A% 2 [HEHE R /104 2.88|8.900 25.63
A04| K X/ ASE 2 /3R /104 5.8/8.900 51.62
405| 47 1E B IX/ASE 2 /3R /104t 2.94(8.900 26.17
A06| k751 X/ ASE 2 /3R /104 3.05|8.900 27.15
407| gy 7 2= ’ I X /A 2 JHE0 i /104 3.03(8.900 26.97
408\ #ik P X/ ASE 2 /3R /104 0.94/8.900 8.37
409|725 bk B X /A% 2 JBE R /104 2.04/8.900 18.16
410) 2% K ik R IX A 2 JHEH R /104 3.91(8.900 34.8
AL W FE X /A0 2 [ A /104t 3.8/8.900 33.82
412|754k X/ F 58 2 JHEHe A /104 3.39/8.900 30.17
413|748 X /3% 2 JHE A /104t 3.74(8.900 33.29
A414|%% B 1% X/ ASE 2 /3R /104 3/8.900 26.7
415|752 X/ ASE 2 /3R /104t 3.05/8.900 27.15
A16|#X IF 4 X/ ASE 2 /3R /104 3.71/8.900 33.02
A17| 875 BIIX /5% 2 [ 3 A /104 4.04(8.900 35.96
418|751t X/ ASE 2 /3R /104 2.97|8.900 26.43
419\ 4 7% B X /A% 2 JBE R /104 3.86|8.900 34.35
420 3 F 2 X/ ASE 2 /3R /104 0.77|8.900 6.85
421|272k 1y B X /A% 2 JB iR /104 3.29/8.900 29.28
422| K X/ F S8 2 JHEHe A /104 2.58(8.900 22.96
423k B IX /A% 2 JBE R /104 2.79|8.900 24.83
A24| Y7k 2 X/ ASE 2 /3R /104 2.8/8.900 24.92
425|548 X/ ASE 2 /3R /104t 5.22/8.900 46.46
426|575y X/ ASE 2 /3R /104 1.57|8.900 13.97
427\ 1E 4% X A E 2 /3R /104 3.59/8.900 31.95
428\ L 2 X ASE 2 /3R /104 3.66|8.900 32.57
429\ F B X /A% 2 JBE R /104 2.14/8.900 19.05
430|412 X/ ASE 2 /3R /104 3.33|8.900 29.64
431|555 A B X /A% 2 [ A /104t 5.07(8.900 45.12
432\ IR B X/ F 5 2 JHEHe A /104 2.62(8.900 23.32
433\ A F )1 X /3% 2 JHEME A /104 4.9(8.900 43.61
A34| [ A X/ ASE 2 /3R /104 2.66|8.900 23.67
A35| [ B X/ ASE 2 /3R /104t 2.73(8.900 24.3
A36| [ i [ X/ ASE 2 /3R /104 2.69|8.900 23.94




437|j5 BHE B X /A% 2 JBE R /104 3.59/8.900 31.95
A38| [ e X/ ASE 2 /3R /104 2.92|8.900 25.99
439\ B B IX/ASE 2 /3R /104t 1.64/8.900 14.6
AA0| [\ ot X/ ASE 2 /3R /104 2.84/8.900 25.28
AA1| [ SRt A X /A% 2 [ A /104t 3.44(8.900 30.62
442[ x| E % R IX A 2 [ R /104 2.33(8.900 20.74




SEFRFAR— KRR (1K) (2023 ) BE&EH P RATHARER

1T B X 42 R AT H#f: 2023-07-10  &if: 3497  E&H: 9,511.63
5 FPECKP )Y B & B4t ANUSTTAR(FT) b g HMEEHOT) ok 4
1,068.690 8.900 9,511.63
1 BRI FR )1 X /A5 2 [ REA /14 4.49|8.900 39.96(#7 NI
2|2yt B IX /A% 2 [ /14 1.93(8.900 17.18|2s it
3| EKP )1 X /A% 2 (AR /14 4.11(8.900 36.58| F &k
Al Hi X /A% 2 [ RERT /14 2.69|8.900 23.94| % Higk
5/ 43L5¢ B X /A% 2 (e /14 2.83(8.900 25.19| 4 H ot
6| 2 H 4k N IX /A0 2 IR RERS /1%L 3.81{8.900 33.91| 4k HAg
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261| 5 75014 e )1 X /A% 2 (AR /74 3.95(8.900 35.16| & Jjlit
262|455 %% ’ )X /55 2 SRR /74 3.04/8.900 27.06[4: % %
263| 2= 3% Fa ) IX A 2 JRRER /7 4L 1.44/8.900 12.82|Zs 4
264\ 01 B IX /A% 2 [ RER 74 2.8|8.900 24.92|¥5 704
265|257 ’ ) X /55 2 SRR /74 2.65(8.900 23.59(& I
266 5 5] B ) DX/ 4035 2 SR REAS /74 3.65(8.900 32.49| 8 th




267(¥ 048R B )1 X /A% 2 [ R /74 3.65|8.900 32.49(#% 7045
268| 3L EIT PN DX /A3 2 AR /74 2.34(8.900 20.83| E BT
269| 2= it 1 B 1 IX /A5 2 [ REAS /748 1.64(8.900 14.6| 2= {4
270| it B ) X /A0 5 2 R FEAS /74 4.36(8.900 38.8| 2 i
271| 25 4% 2% X JASE 2 JHAFERT 74 3.57(8.900 3177|2548 2%
272|753 22 ’ ) X /A% 2 [ REAT /84 2.7|8.900 24.03| 25 3.2
273| £ [H 4 )1 X /A5 2 R REAT /84E 1.77(8.900 15.75| F [H 4
274|254 )1 X /5% 2 AR /84t 3.93|8.900 3498|251 7=
2753 gt )1 X /A 5% 2 R REAT /8 4L 2.8/8.900 24.927 i
276| 2 i 4 m ) X /A% 2 [ REAT /84 6.4/8.900 56.96| 25 s
277|248 5 )1 X /A5 2 PR /84 6.67(8.900 59.36| 2 X 3¢
278|254 1) B IX A% 2 [ RER /84 4.67/8.900 41.56|2 4L 15
279| e 5r A )1 X /A 2 AT /84 1.93(8.900 17.18 S0k
280| it 7 B ) X /A0 5 2 [ FEAS /84t 4.07|8.900 36.22| 2 {1 5
2812k i w1 X /3% 2 [ EEAT /84 2.3[8.900 20.47| 2K
282|x1]54 [ ’ )1 X /AT 2 SRR /8 4L 3.03(8.900 26.97| 1)k [H
283K 24 RN DX /55 2 SRR /81 0.93(8.900 8.28| k516
2842k 1~ [ X /A58 2 M kAT /84 2.2|8.900 19.58|ak [~ [F
285|8k [~k )1 X /5% 2 R REAT /8 4L 2.1/8.900 18.69|3k {1
286| 5 = % ’ )1 X /A 2 SRR /8 4L 3.03|8.900 26.97| 5 & 7%
287k 7k 2= )1 X /3% 2 /i AEd /84t 1.27/8.900 11.3|7% 7k 2%
288| fitt < 1] ’ )X /55 2 SRR /84 2.93(8.900 26.08|fif 1]
289 fist 4k ’ ) X /55 2 SRR /84 2.4/8.900 21.36|fif 4
290|248 A )1 X /5% 2 MR /84t 2.83(8.900 25.19|Z5 4% 4
291X 1E 3L Fa || X /A3 & [ FERS /8 4+ 1.57|8.900 13.97[ IF 3
292|3#X IF Hk ’ )1 X /A% & [ REAT /84 2.17/8.900 1931 X IE#K
293|iEX IF A w1 X /3% 2 R EEA /84 1.37/8.900 12.19[#X TE A
294[#X 61 B IX /A% 2 (AT /84 1.77[8.900 15.75|#% 61

295| X1 K BH B )1 X /4035 2 [ FEAS /84t 3.7/8.900 32.93| 1] kB
296| %1 IE 3¢ m ) X /A% 2 [ EEAT /84 2.47(8.900 21.98| X1 iF 5T
297| i 5t Fe Fa ) IX /A 2 R RER /8 4L 6.73(8.900 59.9| & &
298|258 Ji )1 X /5% 2 [ RE S /84t 2.63[8.900 23.41|# 40 4
299 & /K ¥ F I X /A7 5% 2 [ FERS /84 3.13(8.900 27.86| i 7k %
300|70% 1F ’ ) X /A% 2 [ EEAT /84 2.53(8.900 22.52) X IF4E




301k % PN DX /A3 2 /AR A /8 44 3.53|8.900 31.42|%k 2%
302|x1 1F /¢ )1 X /A% & [ EEAT /84 4.37|8.900 38.89| XI|iF A&
303| 04 F X /A5 2 [ RS /84 4.26/8.900 37.91 F.0 3
304| 24X B I X /A5 2 [ RS /84 3.13[8.900 27.86| 25 ft i
305| 1] iF A )1 X /3% 2 [ EEAT /84 2.78.900 24.03| X1 IEA
306| 3% B IX /A% 2 A RER /84 2.07|8.900 18.42| %1%

307| A )1 X /A5 2 R REAT /84E 3.63|8.900 3231k
308| pphH. = B X /A0 5% 2 iR /84 3.53(8.900 31.42( 9=
309|5% 3k )1 X /A 5% 2 R REAT /8 4L 2.83(8.900 25.19[8% Kk
310| 3% 1 B ) X /A% 2 [ FEA /84t 3.63[8.900 32.31| # i
311 F ik A F I XA E 2 [ FER /8 4L 2.3(8.900 20.47| F kA
312| F Ak #t )1 X /A5 & [ EEAT /84 2.8/8.900 24.92| £kt
313 7 B X /4035 2 [ FEA /84 3.83[8.900 34.09| [z
3147 it 1k ’ ) X /A% 2 [ EEAT /84 3.63[8.900 32.31|f e
315| [ 4k Fa || X /A3 & [ RERS /8 4+ 3.1{8.900 27.59| 5] pr 45
316|EH A ’ I X /A E 2 R /84E 1.87/8.900 16.64| [ H 4
317| ik e )1 X /A% 2 AR /84 0.93(8.900 8.28| Fi ki #k
318| ¥ = B IX /A% 2 [ FER /84 3.59|8.900 31.95| Y5 =
39|V o # I /4135 2 [ FERT/83E 3.47/8.900 30.88) i 5t )
320 FMIT ’ )X /55 2 SRR /84 3.63(8.900 3231 F24T
321| Z= {1k B )1 X /A% 2 [ R /8 4L 2.17|8.900 19.31|Zs i 1k
322|ugEpf B ) X /5% 2 [HaFER /84t 3.1(8.900 27.59| 3% E ft
323|105 FE bl )X /5% 2 ekt /84t 4.97|8.900 4423|155 4
324|1% H R B IX /A% 2 A RER /84 6.3/8.900 56.07|3% 1 p1
325|721 2% )1 X /3% 2 [ EEAT /84 0.93(8.900 8.28| 2 2%
326| F 5E 4 F )1 X /AT 2 SRR /8 4L 5.27|8.900 46.9| F L4k
327| x| E % e )1 X /A% 2 AR /84 4.03/8.900 35.87| x| IE %
328|i% H B IIX A% 2 [ FER /84 3.97|8.900 35.33|1% H &
329( 4= i )1 X /5% 2 R REAT /8 4L 4.67|8.900 41.56] 7= e 3
330| 25 £k m ) X /A% 2 [ EEAT /84 4.67|8.900 41.56| 24 bk
3313 3E 2% B X /4035 2 [ FEAS /84 4.03(8.900 35.87| ¥ 3 2%
332|Z: ik B IX /A% 2 [ FEAT /84t 6.53[8.900 58.12|Z5 {1 A
333| T 44k F I X /A7 5% 2 [ FERS /84 3.73(8.900 33.2| F 34k
334| 51y ’ ) X /A% 2 [ EEAT /84 4.67|8.900 41.56| T B




335| X145 3¢ F I X /A 5% 2 [ FERS /84 4.37/8.900 38.89| 1|4
336|477k 1 BN X /3% 2[R AR /84 4.47)8.900 39.78|4% 7k B
337) $h SOR F I X /A 5% 2 [ FERS /8 4 4.47(8.900 39.78| i v Ak
338| i ] ] I IX /455 2 /AR R /84t 2.7|8.900 24.03| % 4 B
339| F stk )1 X /A5 2 [ REAT /84L 4.5/8.900 40.05| F M1k
340| i1 FI X /A5 2 [ FEAS /84t 3.1{8.900 27.59| 2 i+
341| =i 3 )1 X /A% 2 AR /84 2.67|8.900 23.76|2 {3,
342\ by K4 PN DX /A0 5% 2 AR A /84T 4.77/8.900 42.45[k K4
3431 W )1 X /A 5% 2 R REAT /8 4L 2.93(8.900 26.08| j7 24 ]
344| % 7k i 1| [X /A 2 [ RER/84E 0.93(8.900 8.28| 5 sk Bl
345| 8 7k 1tk B X /4035 2 [ FEAS /84 3.53[8.900 31.42|t ik 1k
346|857k A BN IX /3% 2 JHa AT /84t 3.53/8.900 31.42| 85k A
347|#2% RN IX /A5 & /AR /8 3[8.900 26.7[ k5 %

348|7 if 4 B ) X /A0 5 2 [ FEAS /84t 2.38.900 20.47|Z5 ¢t
349| 2 )1 X /A5 2 [ REAT /84L 5/8.900 44.5| 2 5%




SEFRFRE — AN (BB 1K) (20235 %) BE&0 P RATHARER

ITBUHL X 2 FR: AR EAT HH#H: 2023-07-10 &it: 3881 BER:
9,417.04
F5 FPUECRT IS e 2 ikt AN TR (7)) I A v I 0 (T)
1,058.090 8.900 9,417.04
1| B Hh 25 BIIX /A% 2 /s FF 0 3.3/8.900 29.37
2| % s N IX /AT 3% 2[R A 114 2.3(8.900 20.47
3| EE FIN DX/ 2 [hin 43 /14 1.5/8.900 13.35
A= ’ )X /A 2 [FAFA /14 3.8|8.900 33.82
S| E AR B ) X /5% 2 [ A8 /14 2.68.900 23.14
6|3f M3 m )X /A% 2 A F R /14 1.1{8.900 9.79
UEL ! B X /G 2[R =E R /14 3.4/8.900 30.26
8| % i1k F X /A8 2 R =E R /14 1.69(8.900 15.04
of J&l {4 4 BIIX /A% 2 /s FF /0 3.6(8.900 32.04
10| B Hi b ’ )X /A% 2 A /14 1.6(8.900 14.24
130 A 45 Ak F )X /3% 2 R FEA /14 1.6/8.900 14.24
12| JE £+ B ’ )X /A5 2 AR /14 2.2|8.900 19.58
13|k F | X /A% 2 [ 4] /14 3.7|8.900 32.93
14|35 1L B BN X /A 2 IR ER /1A 4.3(8.900 38.27
15| £ 5 X /A 2 [k AT /14 3.7/8.900 32.93
16|7F ¢ [ FIN DX/ A5 2 [hn 34 /14 1.7)18.900 15.13
17| F 24 Fa )X /A3 2 [FAFERT/14E 1.3(8.900 11.57
18]}k X/ AE 2 (i E AT /4L 3.1[8.900 27.59
19|35 I F X /3% 2 R FEA /14 4.6(8.900 40.94
20| £ M % F X /A 2 R TR /14 1.6(8.900 14.24
21) 5k )| 24 F X /3% 2 R FEA /14 2.5(8.900 22.25
22|22 752 BIIX /A 2 IR ER 14 2.2(8.900 19.58
23|13 5 oF FA X /% 2 R T4 /14 3.5(8.900 31.15
246 X /A5 2 R =E R /14 4.2]8.900 37.38
25 e A )X /A3 2 JFA AT/ 14 3.3/8.900 29.37
26[#X K F X /A8 2 R =E R /14 4.1]8.900 36.49
27| oy ’ X /A3 2 RS FEA /14 5[8.900 44.5
280X K 77 F X /A8 2 R =E R /14 1.318.900 11.57




29[ h g ) X /A5 & JRAE R /1 3.67(8.900 32.66
30|y i B B X /A58 2 [ FER 14 2.8(8.900 24.92
31T ’ ) X /55 2 [RAE AT /14 2.6/8.900 23.14
32| 4% K F X /A 2 RS FEART /14 2.4/8.900 21.36
33| ¥ B g )X /A3 2[R R 14 1.7|8.900 15.13
34| 4k B & F X /A 2 RS FEART /14 2.7|8.900 24.03
35| = e m ) X /5 2 [RAEA /14 2.2|8.900 19.58
36| % fin % F X /A 2 R TR /14 4.5/8.900 40.05
37 FE I X A 2 R TR /14 3.9(8.900 34.71
38| JE f++ i BX /A58 2 [ FER /14 3.6/8.900 32.04
39| % Hh 2 m ) X /55 2 [RAEA /14 3.3/8.900 29.37
40[ 47 24 F X /A3 2 R TR /14 3(8.900 26.7
41| feg 3 7 N IX /A 2 R FER /14 2.1{8.900 18.69
A2 L e F X /A 2 RS FEART /14 4.4|8.900 39.16
43| 2R R X A 2 [FAFER 14 2.5/8.900 22.25
AA|F7 B = F X /A 2 RS FEART /14 3.6/8.900 32.04
45| 4k BBl X /A% 2 WA FER /14 4.1(8.900 36.49
46[ 7 F X /A 2 R FEAR /14 3.6/8.900 32.04
A7|ZS BIIX JAE 2 [FAFER 14 2.7/8.900 24.03
48|k 5 1k FNIX /A3 2 RS /14E 3.29/8.900 29.28
49| IEH FBIIIX JAE 2 R 14 1.8|8.900 16.02
50] i Rk F X /A3 2 R FERT /14 3.3/8.900 29.37
51|k it B X /A5 & JRAEA /1 2.2(8.900 19.58
52| ¥ a i ’ )X /A 2 A F ) /14 3.6/8.900 32.04
53| #7567 )X /A3 2[R R 14 2.2|8.900 19.58
54|17 18 F X /A 2 R TR /14 2.8/8.900 24.92
55| 5k 5 F F X /3% 2 R FEA /14 3.2(8.900 28.48
56| 5K Al [ F X /A 2 R FER /14 2.1/8.900 18.69
57) 5K pli & FA X /% 2 R T4 /14 2|8.900 17.8
58| F X /A3 2 RS /14E 3.8|8.900 33.82
59|32 £ pk FIIX JAE 2 [FAFER 14 3.8/8.900 33.82
60| 5 L B X /A58 2 [ FER 14 1.1/8.900 9.79
61|ak RE 4> ) X /A 5E & JRAE A /1 2.2(8.900 19.58
62| %k F X /A 2 RS FEAT /14 1.2(8.900 10.68




63| B 1k X JAE 2 [FAFER 24 1.8|8.900 16.02
64| A B X /A58 2 [ FER 24 1.3|8.900 11.57
65| 7K s [H ’ ) X /A5 2 [RAERS/24E 3/8.900 26.7
66| 5k ik kL F X /A3 2 R T /24 1.4{8.900 12.46
67| % (g2~ X /% 2 [ R 24 3.4/8.900 30.26
68| 4 F X A 2 R TR /24 3(8.900 26.7
69| B /L1 F )X /3% 2 R FEAT /24t 3.7[8.900 32.93
70| %= ytAe F X /A3 2 R T /24t 1.9(8.900 16.91
71 5K Bl e FA X /35 2 R T4 /24t 3.9/8.900 34.71
72| 5K K G F X /A3 2 RS /241 4.9|8.900 43.61
73|k A= X JAE 2 [FAFER 24 1.6(8.900 14.24
74| 5k 5k F X /A3 2 RS FEART /24t 2.8/8.900 24.92
75| kA i ’ ) X /55 2 [RAE RS /24E 2.5/8.900 22.25
W EZ i B X /A58 2 [ FER 24 1.8|8.900 16.02
778 75 B F ) X /A E 2 R =E ) /24 3.6(8.900 32.04
78| 5k A F X /A 2 RS FER /24 0.9/8.900 8.01
79| 5K B 7 F X /3% 2 [FA T4 /24t 0.9/8.900 8.01
80| 7K il i F X /A 2 R FEA /24 1.8(8.900 16.02
81| 5k B bk FA )X /35 2 R T4 /24t 1/8.900 8.9
82|y 75 F N IX /A3 2 R FEA /241 3.8|8.900 33.82
83| & X JAE 2 [FAFER 24 3.2/8.900 28.48
84| 5 |11k F X /A3 2 RS FER /24 3.3/8.900 29.37
85| & [ FBIIX JAE 2 [FAFER 24 4.1/8.900 36.49
86| & [ 1k B X /A5 2 [ FER 24 3.9/8.900 34.71
87| JE M= A )X /A 3E 2 [Fa 4T /24t 2.4/8.900 21.36
88| & ¢k BIIX /A 2 R ER 24 2.5(8.900 22.25
e B )1 X /35 S [ AT 24 3.2/8.900 28.48
90| /& 3¢ A X /A 2 R ER 24 2.7/8.900 24.03
91| k7 F| 1E FIIX JAE 2 [FAFR 24 1.98.900 16.91
92| 4R F X /A3 2 R FEA /241 2.2/8.900 19.58
93|44 /\ P I IX /A 2 a4 /24E 1.8(8.900 16.02
94| 4 i bk F X /A3 2 RS FERT /24 2.2/8.900 19.58
95| 4> 1% 1 FBIIX JAE 2 [FAFER 24 0.7/8.900 6.23
96|V KA F X /A 2 RS FEART /24 3.4/8.900 30.26




97| A X JAE 2 [FAFER 24 1.6(8.900 14.24

98| E kit B X /A58 2 [ FER 24 3.7/8.900 32.93

99| [y A BIIIX JAE 2 R FER 34 5.1/8.900 45.39
100| [ 55 4k B X /55 2 [ FEHR 34 2.9(8.900 25.81
101|475 44 F I X /A5 2 R =E ) /34 2.3/8.900 20.47
102|475 BIIX /A 2 IR ER 34 1.5(8.900 13.35
103| 4% B4l F )X /3% 2 JFAFEA /34 6.6(8.900 58.74
104(Z= {138 F X /A3 2 R TR /3% 3.3/8.900 29.37
105| 2k 53 1k FA X /3% 2 R T4 /3% 2.4(8.900 21.36
106|475 k4 F X /A3 2 R FEA/3%E 4.6/8.900 40.94
107[# ottt Fa X /A3 2 [ FEAT /3% 4.2|18.900 37.38
108|1H-JiitE F X /A3 2 R FEAT /3% 1.4{8.900 12.46
109| i 4, ’a )X /A3 2 JFAFEAT /34 3.4(8.900 30.26
110[# 7511 F X /A3 2 R TR /3% 1.5(8.900 13.35
1118 % R F X /3% 2 R FE4 /34 2.9(8.900 25.81
112| 8K 7 N BIIX /A 2 R ER 34 3.1/8.900 27.59
113|3k 7Rk F X /3% 2 JFAFEA /3% 5.7(8.900 50.73
114|394~ 5 F X /A3 2 R TR /3% 0.2/8.900 1.78
115|475 1] FA )X /3% 2 [ T4 /3% 3.6(8.900 32.04
116| % L F X /A3 2 R FEA/3%E 2.6/8.900 23.14
117|815 5 F X /3% 2 JFAFE4T /34 1.1(8.900 9.79
118(% {14 F X /A3 2 RS FEAT /3% 3.7|8.900 32.93
119| % {5 ’a )X /A3 2 R FEAT /34 5.3(8.900 47.17
120[# %) 4> F X /A3 2 R T /3% 4.7|18.900 41.83
121|475 F I X /A8 2 R =E ) /34 3.8(8.900 33.82
122| 5K 7 B F X /A 2 R TR /3% 2.9/8.900 25.81
123|755 F )X /3% 2 [ FEA /34 3.6(8.900 32.04
124|475 bk F X /A 2 R TR /3% 2.4/8.900 21.36
125|2k 1% [F F X /3% 2 R T4 /3% 4.5/8.900 40.05
126| x| M 758 BIX /A5 2 [ FER 34 4]8.900 35.6
127\ 7575 Fa )X /35 2 JFsFEAT /34 2.4(8.900 21.36
128 A ZE Al F X /A3 2 R TR /3% 4.6/8.900 40.94
129|252 35 ’a )X /A3 2 RS FEAT /34 3.3(8.900 29.37
130 5% ] B X /55 2 [ FEHR 34 3.1/8.900 27.59




131)3k{-4E Fa )X /3% 2 [ 34T /34 4(8.900 35.6
132 10 ’ X /A3 2 RS FEAT /3% 2.8/8.900 24.92
133 x| ) 2% ’a X /A3 2 R FEAT /34 2.6(8.900 23.14
134|475 Kk F X /A 2 R T /3% 4(8.900 35.6
135| yk Ak i F I X /A5 2 R =E ) /34 3.3(8.900 29.37
136| k75 & BIIX /A 2 IR ER 34 3.5/8.900 31.15
137 R kg2 F )X /3% 2 JFAFEA /34 1.5/8.900 13.35
138|471 bk F X /A3 2 R TR /3% 4.2|18.900 37.38
139|451 °F FA X /3% 2 R T4 /3% 1.1(8.900 9.79
140| 5K Bl 4= F X /A3 2 R FEA/3%E 5.9/8.900 52.51
141 % B4 Fa X /A3 2 [ FEAT /3% 4.9|8.900 43.61
142| %% 9 B X /A58 2 [ FER 34 3.4(8.900 30.26
143\ ’a )X /A3 2 JFAFEAT /34 1.7/8.900 15.13
144| w4~ tF B X /A5 2 [ FEHR 34 2/8.900 17.8
145[71 tH- i F I X /A8 2 R =E i) /a4t 3.5/8.900 31.15
146| P H Al F X /A3 2 RS FE 4 /44t 3.3/8.900 29.37
147 5 K A )X /A 3E 2 [¥a 4T /44t 5.2|8.900 46.28
1485 ’ )X A% 2 [FAF ] /a4t 4/8.900 35.6
149| Y251k FIIX JAE 2 [FAFH a4 4.5|8.900 40.05
150|323 BE F X /A5 2 R FEA /44E 5.6/8.900 49.84
151y 2% A IX /38 2 [¥a 4T /44t 3.1/8.900 27.59
152| g4~ ’ X /A3 2 RS FE A /44t 3.9/8.900 34.71
153| g N == ’a )X /A3 2 R FE AT /44t 2.8(8.900 24.92
154\~ A B X /55 2 [ FEHR a4 4.4|8.900 39.16
1553k Bl 3= F I X /A8 2 R =E i) /a4t 5.6(8.900 49.84
156| 8K 7 i BIIX /A 2 R ER a4 4.48.900 39.16
157\ 4= /% X /A% 2 [FA R /a4t 2/8.900 17.8
158|igi{ 1 F X /A3 2 R FE 4 /44t 2.4/8.900 21.36
159|164~ 4> FBIIX JAE 2 [FAFH a4t 1.1(8.900 9.79
160|E i F X /A3 2 R FEA /44t 2.2/8.900 19.58
161|355 Fa X /A3 2 [ FE4T /44t 3(8.900 26.7
162|548 ’ X /A3 2 RS FEA /44t 2(8.900 17.8
163| 5 LN X /A 2 R4t 3.1{8.900 27.59
1645 % F X /A3 2 RS FEA /44t 3.6/8.900 32.04




165 1 7 1 X JAE 2 KR a4 1.6/8.900 14.24
166 7 AL B X /A58 2 [ FEHR a4 2.7(8.900 24.03
167 i EH gt X /A 2 IR R a4t 2.7|8.900 24.03
168|424 B X /55 2 R FEHR a4 3.9/8.900 34.71
169| H 4% F I X /A5 2[R =E i) /a4t 2.8[8.900 24.92
170|3k v K F X /A3 2 R T /44t 4.8|8.900 42.72
171|575 46 F )X /3% 2 JFAFEA /54 5.4(8.900 48.06
172\ ¥ 5L ’ )X /A% 2 [FAF ] /54 5.8(8.900 51.62
173|274l FA )X /3% 2 R T4 /54 4.2|8.900 37.38
174 0H A B X /55 2 [P FEHR /54 2.6(8.900 23.14
175| 2 5 - FA )X /35 2 JFA T4 /54 2.8(8.900 24.92
176|725 7% 7t B X /55 2 R FEHR /54 3.5/8.900 31.15
177|252 ’ )X /A3 2 [ FEAT /54 5.2(8.900 46.28
178|725 7% 5% B X /55 2 R FEHR /54 2.3(8.900 20.47
179|ak (&5 F ) X /A E 2 R =E ) /54 3.4(8.900 30.26
180|2k{~ A4 BIIX /A 2 R ER 54 5.3/8.900 47.17
181|fE B %% w1 X /A% 2 [FA T4 /54 1.2/8.900 10.68
182|2s =2 BIIX /A 2 R ER 54 5/8.900 44.5
183|fif 5t A F X /3% 2 [ T4 /54 5(8.900 44.5
184|372 F 16 B X /55 2 [P FEHR /54 2.3(8.900 20.47
1853 i FF Fa X /3% 2 JFAFEAT /54 5.2|8.900 46.28
186 2 4 = B X /A58 2 R FEHR /54 3.4(8.900 30.26
187|5kA~ ’a )X /A3 2 [ FEAT /54 5.1{8.900 45.39
1882k & it B X /55 2 R FEHM /54 3.6/8.900 32.04
189| it K /S w1 X /A% 2 [Fr T4 /54 3.5(8.900 31.15
190y FH 5 BIIX /A 2 R ER 54 2.3(8.900 20.47
191| 2k 7 ’ I X /A8 2 R =E i) /64t 2.24(8.900 19.94
192| ph iz 2 BIIX /A 2 R ER 64 0.578.900 5.07
193| 2k 7 B ’ )X /3% 2 i T4 /64t 1.4{8.900 12.46
194| i A4 B X /55 2 [ FEHR /et 3/8.900 26.7
195[FR it A F )X /3% 2 [Fs T4 /64t 5(8.900 44.5
196|214+ B X /A5 2 [ FEHR 64t 5.1/8.900 45.39
1972 i ’a )X /A% 2 [FA T4 /64t 0.48(8.900 4.27
198| 4 i = B X /A5 2 [ FEHR 64t 2.9(8.900 25.81




199| 2k 37 4k F X /3% 2 [Fs T4 /64t 2|8.900 17.8
200|372 A B X /55 2 [ FEHR /64t 1.3|8.900 11.57
20132 k4 ’ X /A3 2 [FA T4 /64t 1.28/8.900 11.39
202|322 kA5 B X /A5 2 [ FEHM 64t 1.5/8.900 13.35
203| 72K F F I X /A E 2 R =E i) /64t 1.3(8.900 11.57
204|545 - BIIX /A 2 IR ER 64 4.48(8.900 39.87
205| 44 Y F )X /3% 2 [FA T4 /64t 1.4{8.900 12.46
206|545 ik X /A 2 R ER 64 2.7/8.900 24.03
207| JE 51 4> F )X /3% 2 [FA T4 /64t 2.8/8.900 24.92
208| S AE i B X /55 2 [ FEHR /6t 1.8|8.900 16.02
209 i~ m ) X/ 5E 2 [RAEAT/64L 1.2|8.900 10.68
210| 4w B X /A58 2 [ FEHR 64t 2.5(8.900 22.25
211575 ’ )X /A3 2 [FA T4 /64t 1.54/8.900 13.71
212| AE A4 B X /A5 2 [P FEHM 64t 4.7|8.900 41.83
213|337 T F I X /A E 2 R =E i) /64t 4.2|18.900 37.38
214| £ BIIX /A 2 M ER 64 1.6(8.900 14.24
215|2 [F i ’ X /3% 2 [FA T4 /64t 1.2(8.900 10.68
216| [ 2l BIIX /A 2 M ER 64 1.6(8.900 14.24
217| M1 F )X /3% 2 [FA T4 /64t 2.8/8.900 24.92
218| 5K B~ FNIX /A3 2 [FAFEA/64E 2.2/8.900 19.58
219\ RAE K F )X /3% 2 [Fs T4 /64t 2|8.900 17.8
220| 2B 5 B X /A58 2 [ FEHR 64t 1(8.900 8.9
221|851 % ’ )X /A3 2 [FA T4 /64t 1.8/8.900 16.02
222|Z B X /A5 2 [ FEHR 64t 3.07/8.900 27.32
223|877 4 F I X/ AE 2 R =F i) /64t 2.5/8.900 22.25
224\ 3kyit BIIX /A 2 IR ER 64 2.1{8.900 18.69
225(4 E 1 ’ ) X /5 2 [RAEA/64E 1.1/8.900 9.79
226| 1 5l B BIIX /A 2 R ER 64 0.78(8.900 6.94
227\ WA FBIIX JAE 2 [FAFR 74 3.2/8.900 28.48
228| ki 1E F X /A3 2 RS /748 3(8.900 26.7
229|E 25 X JAE 2 R 74 2.3(8.900 20.47
230 J& 5758 B X /A58 2 [ FER 74 2.4(8.900 21.36
231|775 B B X /G 2 IR =E R/ 74 2.2|8.900 19.58
232| F =5 F X /A3 2 RS FEAR /74 2.5/8.900 22.25




233| 2= 4k ) ’ ) X /55 2 [RAER /74 1.9[8.900 16.91
234|254k bR B X /A58 2 R FER 74 1.8|8.900 16.02
235| 2= 4f A FBIIIX JAE 2 R FER 74 2.5(8.900 22.25
236| Fit B X /A58 2 [ FEHR 74 2.5(8.900 22.25
237| FidJt F I X /A8 2 R =E /74 2|8.900 17.8
238| F i B BIIX /A 2 R ER 74 2/8.900 17.8
2397k % B F X /3% 2 RS T4 /74 2|8.900 17.8
240| S B = F X /A 2 RS FEAR /74 2.2/8.900 19.58
24| vk k2 FIIX JAE 2 R 74 2.5(8.900 22.25
242|704 F X /A3 2 RS /748 2.7|8.900 24.03
243|Zs 4 7+ X JAE 2 R 74 2.4(8.900 21.36
244| 5 Y B X /A58 2 [ FEHR 74 2.5(8.900 22.25
245|244 B X /G 2 IR =E R/ 74 2.7|8.900 24.03
246|8k 77 - B X /A58 2 [ FER 74 2.9(8.900 25.81
247|254 K A )X /38 2 [Fa 4 /74 2.7|8.900 24.03
248|As1f 4> ’ )X /A% 2 [FAF]/74E 1/8.900 8.9
249\ 25 4E ’ )X /3% 2 R FEAT /74 2.1/8.900 18.69
250|Zs fF 2% BIIX /A 2 R ER 74 2/8.900 17.8
251|Zs {1k BIIX JAE 2 [FAFR 74 1.8|8.900 16.02
252| A2 7E g MNX /A% 2 R ERT /74 1.3(8.900 11.57
253 1K 2> X A 2 R TR /74 1.1(8.900 9.79
254| 7 4k Y] B X /A58 2 [ FER 74 2.2(8.900 19.58
255|745t B X /A 2 IR =E R/ 74 2.2|8.900 19.58
256 f 76 24 B X /A5 2 [ FER 74 1.1/8.900 9.79
257| 2R M FA )X /38 2 [Fa 4 /74 4.6(8.900 40.94
258 i 5 F X /A 2 R T4 /84t 3.45|8.900 30.71
259|556 T ’ X A% 2 R FE A /84t 4.1/8.900 36.49
260\ 52 F5 X /A 2 R ER 84 3.6/8.900 32.04
261|251 45 FA X /35 2 [ 34T /84t 1.4{8.900 12.46
262| kA0 IT. F X /A3 2 R FE4/84E 2.85/8.900 25.37
263| ki F )X /35 2 [ FE4T /84t 3.05(8.900 27.15
264| ik fL 4 B X /A58 2 [ FER /84 1.4/8.900 12.46
2654k E 4R ’a X /A3 2 JFA T4 /84t 2.25(8.900 20.03
266| 2= {33k B X /A5 2 [ FER /84 1.98.900 16.91




267|245 s bk F )X /A3 2 [ FE4T /84t 1.95/8.900 17.36
2681 KR F X /A3 2 R FEA /84t 5.25/8.900 46.73
269| 2= {H: A BEIIIX JAE 2 [FAFER /84 7.35/8.900 65.42
270[3 5 ik F X /A3 2 R T /84t 1.85(8.900 16.47
271k K ’ )X /3% 2 [ T4 /84t 5.05(8.900 44.95
272| #5690 F X /A3 2 R T4 /84t 5.05|8.900 44.95
273| 5K [H £k ’ )X /A% 2 [ FE4 /84t 4.2|18.900 37.38
274\ k2 X /A 2 R ER 84 2.6(8.900 23.14
275|850 =F5 F )X /3% 2 [ 34T /84t 2.5/8.900 22.25
276| 2 1A% B X /55 2 [ FEHR /94 0.1/8.900 0.89
277| 25 e F )X /A3 2 JFAFEAT /94t 1.2(8.900 10.68
278|Zs {i 1] B X /A58 2 R FEHR 194 1.6/8.900 14.24
279| 25 ft ity ’a )X /35 2 JFAFE AT /94t 0.5(8.900 4.45
280| 2= 4L 3E B X /55 2 R FEHR 194 0.3/8.900 2.67
281|254 F I X /A8 2 R =E i) /94t 1.7(8.900 15.13
282|244 B IIX /A 2 R ER 94 0.9/8.900 8.01
283| ki A ’ )X /3% 2 [ FE4 /94 1.7(8.900 15.13
284 2 ’ X /A3 2 R FEAR /94t 0.5/8.900 4.45
285| 2 [y A FA )X /3% 2 R T4 /94 1.6(8.900 14.24
286| 5 Jit 1] B X /55 2 [ FER /94 2.8(8.900 24.92
287| 2 JiHig: FA )X /A3 2 JFAFEA /94 1.3(8.900 11.57
288| 5L i Wil B X /A58 2 R FEHR 194 1.98.900 16.91
289|445 ’ )X /A3 2 JFA T4 /94t 0.1{8.900 0.89
290|475 hk B X /55 2 R FEHR /94 1.2|8.900 10.68
291|#cit F I X /A5 2 R =E ) /94 2.5/8.900 22.25
292| B AR F X /A3 2 RS FEAT /94t 1.7(8.900 15.13
293| R4 5 ’ )X /3% 2 [ 34 /94 0.6(8.900 5.34
294| &4k F X /A3 2 R TR /94t 1.4{8.900 12.46
295|254k B FA )X /3% 2 [FA T4 /94 1.6(8.900 14.24
296|251 1 F X /A3 2 RS /9%E 2.6|8.900 23.14
297| i HA g FA )X /A3 2 JFA T4 /94 1.8/8.900 16.02
298|475 2 F X /A3 2 RS FEART /94t 1.2(8.900 10.68
299| i fk B IX /A% 2 [FsFF /94t 2.6(8.900 23.14
300(Z= {1 X /A 2 /FyFFH/ 104 3.4/8.900 30.26




30| 5 L BIX /A5 2 [0 A /104 3.8(8.900 33.82
302\ S A F X /A3 2 R FEA) /104 1.3(8.900 11.57
303| 2= {2k B X /A% 2 /FyFF /104 1.5/8.900 13.35
304] 4 B 4R ’ )X /A 2 [FAF 4 /104 1.4{8.900 12.46
305|Z= 1A X AE 2 R ER /104 2.8(8.900 24.92
306|241t X /AE 2 /FyFFH/ 104 1.1(8.900 9.79
307224045 B IX /A% 2 /FsFF /104 1.6(8.900 14.24
308| A F X /A3 2 RS FEA /104 1.6/8.900 14.24
309|Z=4% ot B X /A% 2 /FsFF /104 3/8.900 26.7
310[3% 11148 X /A% 2 /FyFF /104 2.9(8.900 25.81
311 B 4k FE )X /A8 2 JFAEART /104t 0.1/8.900 0.89
312[ Yl E= X /A 2 /FyFF /104 3.6/8.900 32.04
313|E oAk B X /A% 2 /FsFF /104 3.3/8.900 29.37
314|H E ot F X /A3 2 R FEAT /104 1.9(8.900 16.91
315|143 X /A E 2 R ER /104 1(8.900 8.9
316|mi{— 4 X/ AE 2 /FyFFH/ 104 3.1/8.900 27.59
317| 5 240H FE X /A 2 [FAEART /104t 3.2|8.900 28.48
318|5k 64 F X /A3 2 RS FEA) /104 1.6(8.900 14.24
319 B X /A% 2 /FyFF /104 3.3/8.900 29.37
320| 7k y4 1k F X /A3 2 R8T /104 5.4/8.900 48.06
321|347 BIIX JAE 2 MR /104 2/8.900 17.8
322| LNy F X /A3 2 R FEAT /104 3.5/8.900 31.15
323 w4 B X /A% 2 /FsFF /104 2.5(8.900 22.25
324| 2 {2 F X /A3 2 R8T /104 4.7|18.900 41.83
325| 21t A X AE 2 R ER /104 2.9(8.900 25.81
326| /K4 F X /A 2 RS FEAT /104 2.6/8.900 23.14
327|E R B IX /A% 2 /s FF /104 2.8(8.900 24.92
328| kS F X /A3 2 RS FEA /104 3.6/8.900 32.04
329|#k o 2 Fa )X /3% 2 [ T4 /104 1.5/8.900 13.35
330| ™ B 1% F X /A3 2 [FAFEAT /104 1.4{8.900 12.46
331 ZfR X /A% 2 /FyFF /104 2.3(8.900 20.47
332| Zs {3t F X /A3 2 [FAFEAT /104 1.8(8.900 16.02
333| & iz B X /A% 2 /s FF /104 0.6/8.900 5.34
334| £ 55t F X /A3 2 R8T /104 7(8.900 62.3




335|Z= i i X /A% 2 /FyFF /104 1.98.900 16.91
336| 2= {H it X/ AE 2 /FyFFH/ 104 1.2(8.900 10.68
337| F it g B X /A% 2 /FyFF /104 2.1(8.900 18.69
338| 5 /% X /A 2 /FsFFH/ 104 1.5(8.900 13.35
339|Zs {H: #k X /A2 /FsFEF /104 3.4(8.900 30.26
340( w3 X /AE 2 /FyFFH/ 104 2.7/8.900 24.03
341 Z= 4R B IX /A% 2 /FsFF /104 2.7/8.900 24.03
342) R ERAR F X /A3 2 RS FEA /104 0.4/8.900 3.56
343| kK4 B X /A% 2 /FsFF /104 0.6/8.900 5.34
344(FE 3k X /A% 2 /FyFF /104 1.4(8.900 12.46
345| 4 1 1 B X /A% 2 /FyFF /104 3.3/8.900 29.37
346| 24k F X /A3 2 R FEAT /104 3.7|8.900 32.93
347|1k > e X /A% 2 [FAER /104 3.4/8.900 30.26
348| 14 1E 4 X /A 2 /FrFFH/ 104 2.9(8.900 25.81
349|ngi{— 2 X AE 2 [RAER 114 3.6/8.900 32.04
350 kp H 4k X/ AE 2 /FhFEF 114 2.9(8.900 25.81
351 yfLtE BX /A% 2 /s FF /104t 5/8.900 44.5
352 s F X /A 2 R TR /114 4(8.900 35.6
353| 5 21 BIX /A% 2 /s FF /114t 3/8.900 26.7
354|{r41 F X /A3 2 R TR /114 2.7|18.900 24.03
355 #H sl X /A% 2 /s FF /114t 2.5([8.900 22.25
356| F3E % X/ AE 2 /FsFF /114 1(8.900 8.9
357 r22 BIX /A% 2 /R R /114 3.1/8.900 27.59
3585 1% X /A 2 /FhFF/ 114 2/8.900 17.8
359|#H 3 A X AE 2 [RAER 114 1.8|8.900 16.02
360|304 F X /A 2 RS TR /114 2.6/8.900 23.14
361 F) B X /A% 2 /s FF /104 3.8/8.900 33.82
362 SR X /A 2 R TR /114 2.7|8.900 24.03
363|640 F )X /A% 2 R T4 /114 4.6/8.900 40.94
364\ it X /A 2 R TR /114 2.5/8.900 22.25
365| % BIX /A% 2 IR R /114 2.2|8.900 19.58
366|427 X/ AE 2 /FhFF /114 0.9/8.900 8.01
367|251 F )X /A3 2 RS FEAT /114 2.5(8.900 22.25
368| i E = F X /A 2 R TR /114 4.3|8.900 38.27




369|# It BIX /A% 2 IR R /114 2.1/8.900 18.69
370| ¥ X/ AE 2 /FsFF /114 1.5(8.900 13.35
371| 21 g B X /A% 2 /s FF /114t 2.6(8.900 23.14
372|214 X /A 2 /FsFF 114t 48.900 35.6
373l &1k X AE 2 R ER 114 4.1/8.900 36.49
374 E & X /A 2 RS TR /114 2(8.900 17.8
375|ak 257 BIX /A% 2 /s FF /104t 1.8|8.900 16.02
376| 3 2 F X /A 2 R TR /114 3.1/8.900 27.59
377/ B feti A X /A YE 2 [ F AT /114 2.2|8.900 19.58
378| [ st BIIIX /A2 M ER /114 0.9/8.900 8.01
379|482 BIX /A% 2 MR /114 1.5/8.900 13.35
380] i SCPR F X /A3 2 RS FEA /114 5.1/8.900 45.39
381 s i B X /A% 2 /s FF /114t 3.4(8.900 30.26
382|#c & FNIX /A 2 R TR /114 3.9/8.900 34.71
383[Zft A X AE 2 [RAER 114 3.8/8.900 33.82
384 A4 X/ AE 2 /FhFEF 114 2.2(8.900 19.58
3851 w BX /A% 2 /s FF /104t 1.2(8.900 10.68
386| 17 £E bk X/ AE 2 /FAFEF/ 114 1.7(8.900 15.13
387 A BIX /A% 2 /s FF /114t 2/8.900 17.8
388| ik o> X /A% 2 /FhFEF /114 1.9(8.900 16.91




LERFOR — RN (1K) (20236 %F) BE&H F T AT ER

ITEOIX 42 55 HEIEN HH4: 2023-07-10 &it: 4477 &
Bi: 11,274.23
FE [P ERP)ES | FiE 2 Bihiit AMTHRAET) [ Ehbsife i A7)
1,266.740 8.900 11,274.23
1) JE it B X /A% 2 kR /14 1.44|8.900 12.82
2| & 5k ’ )X/ ATE 2[R /14 2.03/8.900 18.07
3| 7 5 )1 X /455 & J it AT /4 1.05|8.900 9.35
Al b R IX A 2 [ R /14 2.96(8.900 26.34
5z JlfiA FIIX S AE 2 it R 14 1.88(8.900 16.73
6| fit e it R IX /A 2 [ R /14 2.4(8.900 21.36
7|3k gl i X /S8 2 kRt 04 4.24/8.900 37.74
8|k R IX A5 2 [ R /14 0.3/8.900 2.67
o\ k7 4 it X /A 2 Jit A /14 1.83|8.900 16.29
10[#% 25 R IX A 2 [ R /14 1.96(8.900 17.44
11|47 45 1 B X /A% 2 kR /14 2.61/8.900 23.23
12|37k ST AR ’ I XA 2 [P YE R /14 2.94(8.900 26.17
13[Zs9 B X /A% 2 kR /14 2.47/8.900 21.98
14|25 %% R IX A 2 [ R /14 2.6/8.900 23.14
15(Zs B IIX S AE 2 JEt R 14 1.6/8.900 14.24
16|47 115 R IX /A 2 [ R /14 1.17/8.900 10.41
17|k bk B XA 2 [t A /14 4.53(8.900 40.32
18 7S ’ )X /5 2[R /14 2.64/8.900 23.5
195K V7 4F F I X /A3 2 [ SRS /14 1.18(8.900 10.5
20| B i B R IX A 2 [ R /14 2.9(8.900 25.81
21| FRN F X /A3 2 [ RS /14 3.46(8.900 30.79
22| i R IX A 2 [ R /14 2.13(8.900 18.96
23|17 st F I X /A3 2 [ SRR /14 1.5/8.900 13.35
24|14 F5 R IX A 2 [ R /14 2.58(8.900 22.96
25|32 5 5 )1 X /4055 & J it AT /04 2.31/8.900 20.56
26| 3k 1% 5 R IX /A 2 [ R /14 1.27/8.900 11.3
27|y )X /A5 2 [t /1 2.88(8.900 25.63
28| 7K AR ’ )X /A E 2[R /14 2.2/8.900 19.58




29|F i B B IIX S AE 2 [t R 14 2.62|8.900 23.32
305K 75 R IX /A 2 [ R /14 2.47(8.900 21.98
31|k e )X /A5 2 [t /1 2.58(8.900 22.96
Ve R IX A5 2 [ R /14 0.35(8.900 3.12
33| 5K BRI F I X /A3 2 [ SRR /14 2.37/8.900 21.09
34| 75 R IX A 2 [ R /14 0.64(8.900 5.7
35| 43t B X /A% 2 kR /14 1.85|8.900 16.47
36|55 R IX A 2 [ R /14 1.82(8.900 16.2
37|ak T B IIX S AE 2 [t R 14 2.5(8.900 22.25
38| R IX A 2 [ R /14 1.45(8.900 12.91
39[5K 3 4 F I X /A3 2 [ AR /14 3.29(8.900 29.28
40|k i 4 R IX /A 2 [ R /14 2.4(8.900 21.36
41| ik 4% )X /A5 & Jut i /1 3.18(8.900 28.3
42|k vt R IX A5 2 [ R /14 3.44(8.900 30.62
433k ik F I X /A58 2 [ RS /14 2.68(8.900 23.85
44| [ St R IX A 2 [ R /14 1.65(8.900 14.69
45| F Bf 2 5 )1 X /4055 & A 4 0.95(8.900 8.46
46 [ 5 0 R IX A 2 [ R /14 2.53(8.900 22.52
47|25 4143 5 )1 X /455 & J AT /4 3.76/8.900 33.46
48| JE [H g R IX A 2 [ R /14 2.02[8.900 17.98
A9 FE = B IIX S AE 2 JEt R 14 3.17|8.900 28.21
50| jE [H i R IX /A 2 [ R /14 2.82[8.900 25.1
51| fE [H 4 )X /A5 & [t /1 2.79(8.900 24.83
e R IX A5 2 [ R /14 2.13(8.900 18.96
53| 7 [E 5 )1 [X /45 3% 2 itk /14t 2.29(8.900 20.38
54| % H Ji] R IX A 2 [ R /14 0.48(8.900 4.27
55| % 4 5 )1 X /4055 & it A 3.08(8.900 27.41
56| % Hbfir R IX A 2 [ R /14 2.89(8.900 25.72
57| % Hi B IIX S AE 2 [t R 14 3.03/8.900 26.97
58|y i A R IX A 2 [ R /14 1.228.900 10.86
59|32 g B IIX S AE 2 [t R 14 1.22|8.900 10.86
60| 5K 37 K R IX /A 2 [ R /14 2.42(8.900 21.54
61|& o X /S8 2 kiR 24t 2.72(8.900 24.21
62|17k i R IX A5 2 [ R /24t 0.93(8.900 8.28




63| 2 fi 1 F I X /A3 2 [ A /244 2.8(8.900 24.92
64| H [H . R IX /A 2 [ R /24t 3.04[8.900 27.06
65|12 k2 F I XA 2 JUESE R /24 1.62|8.900 14.42
66| | T4k ’ I X /A E 2[R R /24 1.61/8.900 14.33
67|53k 5 % F ) X /A3 2 [ AR 244 4.75|8.900 42.28
68| 5k 7w T R IX A 2 [ R /24t 2.62[8.900 23.32
69| [H it 5 )1 X /4055 & J it 24 4.96(8.900 44.14
70| g b R IX A 2 [ R /24t 3.53(8.900 31.42
71| [F AR B IIX S AE 2 JEt iR 24 1.48|8.900 13.17
72| ik R IX A 2 [ R /24 4.2|8.900 37.38
73| F Lo B IIX S ASE 2 JEt iR 24 1.59|8.900 14.15
L EL R IX /A 2 [ R /24t 3.6/8.900 32.04
75| 5 Al R IX /A 2 [ A /24t 4(8.900 35.6
B R IX A5 2 [ R /24t 4.47|8.900 39.78
77\ F ) X /A3 2 [ AR 244 4.85|8.900 43.17
78| AR R IX A 2 [ R /24t 6.07|8.900 54.02
79| % 2 4 B ) 1| [X /A3 2 Jub iR 24 4.1(8.900 36.49
80[ ] & B R IX A 2 [ R /24t 4.55|8.900 40.5
81 o F I X /A58 2 [ 244 3.72(8.900 33.11
82|5k Jg fk F I X /A 2 JUEYE R /24 0.49(8.900 436
83|21 5 )1 X /4055 & J AT 24 3.58|8.900 31.86
84| v 4F R IX /A 2 [ R /24t 2.28(8.900 20.29
85|k S 2 )X /5% & [t /24t 4.26(8.900 37.91
86| 5k [E - ’ I X /A 2[R R /24 5.82(8.900 51.8
87| ¥ i e X /A% 2 [t A /24 2.38|8.900 21.18
88|17 S fh R IX A 2 [ R /24t 2.18(8.900 19.4
89| T 1 4k 5 )1 X /4055 & J kA 24k 2.18(8.900 19.4
90| T Bl % R IX A 2 [ R /24t 3.67/8.900 32.66
91| s 5 B IIX S AE 2 JEt iR 24 1.67|8.900 14.86
92| ¥ 7k & R IX A 2 [ R /24t 2.94(8.900 26.17
93| s fihi f7 B IX S ASE 2 [t iR 24 2.82|8.900 25.1
94| ¥ 4% R IX /A 2 [ R /24t 4.26/8.900 37.91
95| T 7 1 )X /A5 2 [t /24t 2.01/8.900 17.89
96| T B {5 R IX A5 2 [ R /24t 2.7|8.900 24.03




97| 4% 1 B X /A% 2 kR /244 3.69(8.900 32.84

98| ¥ K 7S R IX /A 2 [ R /24t 3.21(8.900 28.57

99| 4 k4~ X /S8 2 kiRt 24 3.38|8.900 30.08
100 BJ3 5 R IX A5 2 [ R /24t 1.95(8.900 17.36
101|#7 7&K 4@ F ) X /A3 2 [ AR 244 1.89(8.900 16.82
102|725 i 2 R IX A 2 [ R /24t 3.5(8.900 31.15
103|# i B X /A% 2 kR /24 4.71|8.900 41.92
104| 4L R IX A 2 [ R /24t 5.51{8.900 49.04
1057k V7. &5 F I X /A3 2 [ SRR 244 3.92(8.900 34.89
106|#% E #i R IX A 2 [ R /24 3.24(8.900 28.84
107) 5K Bl F I X /A3 2 [ AR /244 4.77(8.900 42.45
108| % =5 R IX /A 2 [ R /24t 2.4(8.900 21.36
109|2s 283 X /S8 2 kiR 24 1.7/8.900 15.13
110|235+ R IX A 2 [ R /34 2.56(8.900 22.78
111 k5 & F I X /A3 2 [ R /344 0.17/8.900 1.51
112| k5 & R IX A 2 [ R /34 1.7(8.900 15.13
113|347 A B IIX S ASE 2 it R /34 4.26(8.900 37.91
114\ pL 16 R IX A 2 [ R /34 3.06/8.900 27.23
115| a5 24 B IIX S AE 2 [t R /34 0.3(8.900 2.67
116| 2% fiti 4> R IX A 2 [ R /34 2.2(8.900 19.58
1178 7 F I X /A3 2 [ AR /344 2.44/8.900 21.72
18| bk R IX A 2 [ R /34 1.09(8.900 9.7
119| 3K 25 R X /A 2 [EL R R /34 1.87|8.900 16.64
120[5Kk S 4 ’ I X /A 2[R R /34 2.1(8.900 18.69
121 4 B F I X /A3 2 [ AR /344 4.62|8.900 41.12
1225k A48 R IX A 2 [ R /34 1.888.900 16.73
123|[5% 11, F I X /A3 2 [ SRR /344 2.83(8.900 25.19
124 5yt R IX A 2 [ R /34 1.65(8.900 14.69
125|474 B IIX S AE 2 Jit iR /34 3.2(8.900 28.48
126 F 04 R IX A 2 [ R /34 3.11{8.900 27.68
127k 1 75 B IIX S A SE 2 JEt R /34 2.07|8.900 18.42
128| i JE A R IX /A 2 [ R /34 1.4{8.900 12.46
129)| p4 1 4 R X /A 2[R R R /34 2.42(8.900 21.54
130 4 2 7T R IX A5 2 [ R /34 1.34/8.900 11.93




131 £ 548 B X /A% 2 kR /34 1.41|8.900 12.55
132| Ex4E ’ I XA 2 [ UESE R /34 2.43(8.900 21.63
1335k i 75 R X /A 2[R R R /34 1.66|8.900 14.77
134| 5 & k& R IX A5 2 [ R /34 2.78(8.900 24.74
135|2s 243 B X /A 2 kR /34 2.95(8.900 26.26
136|[4A R IX A5 2 [ R /34 3.01{8.900 26.79
137|331l B IIX S ASE 2 JEt R /34 4.73(8.900 42.1
138| J& IF I R IX A 2 [ R /34 4.95|8.900 44.06
139| A2 v 4k 5 )1 X /455 & J kAT /34 5.13(8.900 45.66
140 & 5k R IX A 2 [ R /34 1.37/8.900 12.19
14148 B IIX S ASE 2 Jit R /34 2.86(8.900 25.45
142| % i b, R IX /A 2 [ SRR /a4t 2.05(8.900 18.25
143|474 B X /A3 2 [t R /At 2.41/8.900 21.45
144| & = R IX A5 2 [ R /a4t 1.56(8.900 13.88
145| & & 1 X /A% 2 [t A /a4t 1.65|8.900 14.69
146|615 /& R IX A 2 [ R /a4t 2.65(8.900 23.59
147| 5 714 B X /A% 2 [k R /ot 2.56/8.900 22.78
148 5 IF 1 R IX A 2 [ R /a4t 1.27/8.900 11.3
149| JH 71 &5 B X /A% 2 [k R /att 1.27|8.900 11.3
150| & 544 R IX A 2 [ R /a4t 5.78(8.900 51.44
15| 8k 4 B X /A% 2 kR /a4t 4.12|8.900 36.67
1521 Bf 3% R IX /A 2 [ SR /a4t 1.54/8.900 13.71
153| F 44 X /S8 2 kR /ot 1.17|8.900 10.41
1547k k2 R IX A5 2 [ R /a4t 3.1{8.900 27.59
155| 3k /)t B )1 [X /4535 & [t ] /ot 2.29(8.900 20.38
156|213 R IX A 2 [ R /a4t 4.19|8.900 37.29
157|228k 4% 5 )1 X /4055 & [t a4t 6.58(8.900 58.56
158|123 R IX A 2 [ R /a4t 2.3(8.900 20.47
159| & 4% 5 )1 X /455 & AT axt 3.08(8.900 27.41
160[Z= V45 ’ I X /A 2 [ UEYE R /a4t 4.75(8.900 42.28
161 Wit F I X /A3 2 [ A /a4t 3.02/8.900 26.88
162| % 1, A R IX /A 2 [ R /a4t 2.76(8.900 24.56
163| B J5 46 X /A5 2 [t R 4t 3.72|8.900 33.11
164|842 4 R IX A5 2 [ SRR /a4t 0.93(8.900 8.28




165| [ v/ #& B IIX S A SE 2 JEt R a4t 2.45|8.900 21.81
166|534 203 F ) IX /A5 2 [ R /a4t 2.59(8.900 23.05
167|575 R X /A 2[R R R /a4t 1.8/8.900 16.02
168| [ 2 1| R IX A5 2 [ R /a4t 3.68(8.900 32.75
169| [ = & A X A% 2 [t A /a4t 1.12|8.900 9.97
170| F JfiZs R IX A5 2 [ R /a4t 3.47|8.900 30.88
171| v 4> B X /A% 2 [k R /ot 2.61/8.900 23.23
172\ = R IX A 2 [ R /a4t 1.1{8.900 9.79
173 J& ki F I X /A3 2 [ SR /a4t 2(8.900 17.8
174 & =4 R IX A 2 [ R /54 2.39(8.900 21.27
175| JE 23] B IIX S ASE 2 [t R /54 1.6(8.900 14.24
176| &5 %55 R IX /A 2 [ R /54 2.1(8.900 18.69
177| & R X /A 2[R s R /54 2.86(8.900 25.45
1785k AT ’ I X /A 2 [ YE R /54t 2.32(8.900 20.65
1793k A B F I X /A3 2 [ AR /544 2.96(8.900 26.34
180| k7 46 ¥ R IX A 2 [ R /54 4.09|8.900 36.4
18147 h F I X /A3 2 [ /544 3.28(8.900 29.19
182|#% 2 1% R IX A 2 [ R /54 2.83(8.900 25.19
183\ (K F 2 B IIX S AE 2 [t R /54 1.74(8.900 15.49
184 x1| 3 ’ I XA 2 [ UEER /54E 1.73|8.900 15.4
185| 7k {24 F I X /A3 2 [ A /544 3.06(8.900 27.23
186)| & &= 75 R IX /A 2 [ SRR /54 1.43(8.900 12.73
187| #7564 R X /A 2[R R R /54 3.91(8.900 34.8
188| 7k ik R IX A5 2 [ R /54 2.03(8.900 18.07
189 & [H 2> F ) X /A3 2 [ AR /544 1.35/8.900 12.02
190|472 15 R IX A 2 [ R /54 4.09|8.900 36.4
191|# 4616 F I X /A3 2 [ /544 0.63(8.900 5.61
192|1% R IX A 2 [ R /54 0.38(8.900 3.38
193 JE 2145 5 )1 X /455 & J kAT /54t 1.07/8.900 9.52
194 [ 7 R IX A 2 [ R /54 2.98(8.900 26.52
195|[5 &9T B IIX /A SE 2 JEt R /54 1.69|8.900 15.04
196|2k B 411 F ) IX A 2 [ SRR /64t 4.67|8.900 41.56
197|335 75 Fa ) IX A 2 [ A /64t 1.91/8.900 17
198|3k w4 ’ I X /A 2[R R /64t 2.13(8.900 18.96




199 fi b 52 5 )1 X /4055 & J kAT e 4t 1.67/8.900 14.86
200| 2k B 4L, F ) IX /A5 2 [ R /64t 1.02(8.900 9.08
201|REH = R X /A 2 [EL R /64t 3.88(8.900 34.53
202| F 0B F ) IX A5 2 [ R /64t 0.36/8.900 3.2
203| T % F I X /A3 2 [ SRR 64t 1.44(8.900 12.82
204| F.004E R IX A 2 [ R /64t 3.57/8.900 31.77
205| F 00 F F X /A3 2 [ /64t 1.8(8.900 16.02
206)| {i] 4 F ) IX A 2 [ R /64t 2.68(8.900 23.85
207|fiy h T+ F I X /A3 2 [ SR /64t 1.76|8.900 15.66
208| ] i ’ I X /A 2 [ E R /64 1/8.900 8.9
200| i F I X /A3 2 [ A /644 0.94(8.900 8.37
210| i th 45, F ) IX /A5 2 [ SRR /64t 2.16(8.900 19.22
211 F .08 R IX /A 2[R R /64t 1.89|8.900 16.82
212\ ¥ 75 R IX A5 2 [ R /64t 2.59(8.900 23.05
213| N 4E F I X /A3 2 [ /64t 2.5(8.900 22.25
214) 07N R IX A 2 [ R /64t 1.64/8.900 14.6
2154 22k )1 X /A5 2 J bR /64 0.65|8.900 5.79
2164 7 i R IX A 2 [ R /64t 1.13(8.900 10.06
217|404 FIIX JAE 2 3R 64t 1.53|8.900 13.62
218|475 B, Fa ) IX A 2 [ SRR /64t 1.61/8.900 14.33
219| a2k 7 4k F I X /A3 2 [ /644 3.98(8.900 35.42
220|2k 7 4 F ) IX /A 2 [ R /64t 3.97/8.900 35.33
2213 it R X /A 2[R R R /64t 2.74/8.900 24.39
222|3k % R IX A5 2 [ SRR /64t 4.38|8.900 38.98
223\ i F I X /A3 2 [ /64t 0.75(8.900 6.68
224|541 2 R IX A 2 [ R /64t 2.89(8.900 25.72
225(5k v 4l )1 X /A 2 [ AT /64 2.03(8.900 18.07
226\ K75 R IX A 2 [ R /64t 2.81(8.900 25.01
227|3 IE4E F I X /A58 2 [ SR /64t 1.86(8.900 16.55
228|325 Fa ) IX A 2 [ SRR /64t 4.63|8.900 41.21
229| 5 B FIIX JAE 2 [t R 64t 2.5(8.900 22.25
230| F 44 F ) IX A 2 [ SRR /64t 2.65(8.900 23.59
231 s R X /A 2 [EL R R /64t 2.12(8.900 18.87
2322k v ip R IX A5 2 [ SRR /64t 2.6/8.900 23.14




233X Kk X /A% 2 iR /64t 1.17|8.900 10.41
234|534 1 1 F ) IX /A5 2 [ R /64t 2.25(8.900 20.03
235| =yt IF R X /A 2 [EL R /64t 2.13(8.900 18.96
236 VA8 F ) IX A5 2 [ R /64t 4.3|8.900 38.27
237| i K X /A% 2 [t /64t 2.24/8.900 19.94
238| Tk b R IX A 2 [ R /64t 0.45(8.900 4.01
239|275 B, 5 )1 X /4055 & kA e 4t 3.79|8.900 33.73
240(3k B 7 F ) IX A 2 [ R /64t 4.45|8.900 39.61
241|255 A B IIX JAE 2 [t 64t 1.65|8.900 14.69
242|782 Fa ) IX A 2 [ SRR /64t 1.6(8.900 14.24
243| e 3L 5 )1 X /5% & J kAT e 4t 0.49|8.900 4.36
244|554, R IX /A 2 [ SRR /74 1.25(8.900 11.13
2454 7+ 8l B XA 2 [ A /74 2.83(8.900 25.19
2464 T4k R IX A5 2 [ R /74 2.42(8.900 21.54
2474 vk F ) X /A58 2 [ AR /744 2.58(8.900 22.96
2482k A4, R IX A 2 [ R /74 3.72[8.900 33.11
249\ 1% 7T 5 )1 X /455 & [t 74k 6.22|8.900 55.36
250( = 3L IR R IX A 2 [ R /74 5.91(8.900 52.6
251| R B IIX S AE 2 [t R 74 2.73|8.900 24.3
252|223 R IX A 2 [ SRR /74 3.07/8.900 27.32
253| 85 ik 5 )1 X /4055 & J kAT 74k 2.97|8.900 26.43
254| = Fok R IX /A 2 [ R /74 3.27/8.900 29.1
2554k X )X /A5 2 [t /74 1.18(8.900 10.5
256|4 K /k R IX A5 2 [ SRR /74 2.89(8.900 25.72
257K IEA F ) X /A3 2 [ AR /744 3(8.900 26.7
258| 4146 R IX A 2 [ R /74 3.41(8.900 30.35
259|8K 3k B X /A% 2 kR /74 2.26|8.900 20.11
260 5Kk 4> R IX A 2 [ R /74 5.07|8.900 45.12
2613k K m X /A3 2 [t A 74 4.34(8.900 38.63
262| 5 i R IX A 2 [ /74 4.56/8.900 40.58
263| i 14 5 )1 X /455 & J AT 74k 3.68|8.900 32.75
264|2k Fo it R IX /A 2 [ SRR /74 3.44(8.900 30.62
265| 7K 12 B R X /A8 2[R R /74 1.55/8.900 13.8
266| 1 k ML R IX A5 2 [ R /74 3.45(8.900 30.71




267| % rf bk F I X /A3 2 [ AR /744 6.34(8.900 56.43
268| % B R IX A 2 [ SRR /74 3.45(8.900 30.71
269(% i 1 X /S8 2 kiRt 74 3.84/8.900 34.18
270| % rh % R IX A5 2 [ R /74 4.1/8.900 36.49
271|% h Rk F I X /A3 2 [ SRR /744 3.77|8.900 33.55
272\ % i & R IX A5 2 [ R /74 4.42|8.900 39.34
273| B e B X /A% 2 kR /74 2.82/8.900 25.1
2745kt 5= R IX A 2 [ R /74 2.82[8.900 25.1
275| % it F I X /A3 2 [ SRR /744 3.5(8.900 31.15
276| 5K 7R R IX A 2 [ R /74 3.1{8.900 27.59
277| 52 5 )1 X /4055 & J kAT 74k 4.08(8.900 36.31
278| 5K R IX /A 2 [ SRR /74 4(8.900 35.6
279|257 & )X /A5 & [t /74 2.12(8.900 18.87
280| 5K V7. /5 R IX A5 2 [ R /74 4.34/8.900 38.63
281| 2k /el X A% 2 Jit A /74 2.37/8.900 21.09
282| 2k /N R IX A 2 [ R /74 1.82(8.900 16.2
283| 4t 5E 5 )1 X /455 & [t 74k 3.22|8.900 28.66
284| 1k K AE R IX A 2 [ R /74 2.22(8.900 19.76
285| 2k k2 B IIX S AE 2 [t R 74 2.55(8.900 22.7
286|771 K I R IX A 2 [ SRR /74 4.2|8.900 37.38
287| 7k A 1] 5 )1 X /4055 & J kAT 74k 5.1/8.900 45.39
288| R A R IX /A 2 [ R /74 3.05(8.900 27.15
289\ i 14 % )X /A5 2 [t /74 1.5/8.900 13.35
290 T & R IX A5 2 [ R /84t 3.13(8.900 27.86
291| K B X /A 2 )k /84t 1.43|8.900 12.73
292|782z R IX A 2 [ R /84t 2.82[8.900 25.1
293 3¢ 4k F I X /A3 2 [ R /844 0.8|8.900 7.12
29425 g R IX A5 2 [ R /84t 3.67/8.900 32.66
295|372 F W 5 )1 X /455 & J AT /8 4t 5.45|8.900 48.51
296| Tikit ’ I X /A 2 [ YE R /84 5.07(8.900 45.12
297| Fikke F I X /A3 2 [ /844 2.83(8.900 25.19
298| % 1 7% R IX A5 2 [ R /84t 1.68(8.900 14.95
299( % RyT RN X /A 2[R R /84 2.28(8.900 20.29
300 J [E #k R IX A5 2 [ R /84t 4.87|8.900 43.34




3011k B IIX /A SE 2 Jit R /84t 4.7|8.900 41.83
302|475k R IX /A 2 [ R /84t 5.27|8.900 46.9
303| F ik B R X /A 2[R R /84 3.63(8.900 32.31
304|871 R IX A5 2 [ SRR /84t 4.08|8.900 36.31
305( % ¥ B )1 [X /4534 2 [tk /8 4t 2.63(8.900 23.41
3062k 2 R IX A 2 [ R /84t 3.22[8.900 28.66
307[2 k4 B IIX S ASE 2 it R /84t 3.08/8.900 27.41
308| 7 R IX A 2 [ R /84t 2.83(8.900 25.19
309|245 5 )1 X /455 & J AT /8 4t 3.13|8.900 27.86
310770y R IX A 2 [ SRR /84t 3.03(8.900 26.97
311|E& %5 B IIX S ASE 2 JEt R /84t 2.38(8.900 21.18
312|520y R IX A 2 [ R /84t 2.63(8.900 23.41
313| &I Hit RN X /A 2[R R /84 3.47(8.900 30.88
314|545 R IX A5 2 [ R /84t 3.97/8.900 35.33
315|ZEFF B )1 [X /4534 2 [t /84t 2.83(8.900 25.19
316|Z 5 H R IX A 2 [ R /84t 3.13(8.900 27.86
317\ B = F I X /A3 2 [ SR /844 0.53(8.900 4.72
318[#48 2 R IX A 2 [ R /84t 2.17(8.900 19.31
3193k A B IIX S AE 2 Jdt R /84t 4.17(8.900 37.11
320[ 648 R IX A 2 [ R /84t 3.46(8.900 30.79
321|ag 2 5 )1 X /4055 & J iR AT /8 4t 5.47|8.900 48.68
322|542 R IX /A 2 [ R /84t 5.55(8.900 49.4
323|jE B RN X /A 2[R E R /84 4.37(8.900 38.89
324 3 R IX A5 2 [ R /84t 4.97|8.900 44.23
325 ya A F I X /A3 2 [ A /844 3.84(8.900 34.18
326| K R IX A 2 [ R /84t 1.38(8.900 12.28
327|{% B IIX S ASE 2 [t R /84t 2.67|8.900 23.76
328| A R IX A5 2 [ R /84t 1.7(8.900 15.13
329|& Fp1E B IIX S AE 2 Jit R /84t 1.43|8.900 12.73
330|255 4 R IX A 2 [ R /84t 1.17/8.900 10.41
331| k4R B X /A% 2 kR /94 2.45|8.900 21.81
332[#s 24 R IX /A 2 [ R /94t 2.18(8.900 19.4
3331y 2444 R IX /A 2 [ A /94t 1.71/8.900 15.22
334| 2= IR ’ I X /A 2[R R /94t 3.31(8.900 29.46




335| [ v 1K F I X /A3 2 [ AR /944 3.91(8.900 34.8
336| 25 iyt R IX /A 2 [ R /94t 3.58(8.900 31.86
337|245 5 R X /A 2[R R R /94 3.18(8.900 28.3
338|2s 2 R IX A5 2 [ R /94t 3.83(8.900 34.09
339| i 2 F ) X /A3 2 [ A /94t 2.88(8.900 25.63
340|5K 7. 2= R IX A5 2 [ R /94t 3.4/8.900 30.26
341 |k 4 1 B IIX S ASE 2 JEt R /9%t 2.37|8.900 21.09
342| <7 F ) IX A 2 [ R /94t 4.44|8.900 39.52
343|2k 7 E F I X /A3 2 [ SRR /94t 1.66(8.900 14.77
344| %} p1 1k R IX A 2 [ SRR /94t 2.35(8.900 20.92
345|273 5 )1 X /4055 & J kAT Jo 4t 3.22|8.900 28.66
3463 it R IX A 2 [ R /94t 4.9|8.900 43.61
347| % B RN X /A 2[R R R /94 2.44/8.900 21.72
348| 5 15 R IX A5 2 [ SRR /94t 3.19(8.900 28.39
349|245 F ) X /A3 2 [ SRS /94t 3.7|8.900 32.93
350| gy 24 HH R IX A5 2 [ R /94t 2.13(8.900 18.96
351|ngf -2 B IIX S ASE 2 JEt iR /9%t 1.94(8.900 17.27
352| &4 P R IX A 2 [ R /94t 3.49(8.900 31.06
353|4} K~ B IIX S AE 2 JEt R /9%t 1.11|8.900 9.88
354|241tk R IX A 2 [ SRR /94t 2.29(8.900 20.38
3552 {144 5 )1 X /A0 55 & J AT Jo 4t 2.19(8.900 19.49
356| 2= i 7% ’ I XA 2 [ UEYE R /94t 1.85|8.900 16.47
357| i RN X /A 2[R R R /94 5.9(8.900 52.51
358|253 R IX A5 2 [ R /94t 2.55(8.900 22.7
359 2 Jli A F ) X /A3 2 [ AR /94t 4.37|8.900 38.89
360| 5K 7R R IX A5 2 [ R /94t 3.26(8.900 29.01
361|5K V7 4 F X /A3 2 [ AR] /94+ 3.65(8.900 32.49
36254 7% R IX A5 2 [ R /94t 2.92(8.900 25.99
363|[E H A 5 )1 X /455 & J kAT 794t 3.13|8.900 27.86
364|722 R IX A 2 [ R /94t 1.07/8.900 9.52
365| & & 1] 5 )1 X /4055 & J AT Jo 4t 3.43|8.900 30.53
366/ [ 4 A R IX /A 2 [ R /94t 3.31{8.900 29.46
367| [ gite RN X /A 2[R R R /94 4.41(8.900 39.25
368| kK 3L ’ I X /A 2[R R /94t 4.61(8.900 41.03




369| ¥ ta 4 F I X /A3 2 [ AR /944 6.16(8.900 54.82
370|341 %54k F ) IX /A 2 [ SRR /104 3.71(8.900 33.02
371 % R T B IX/ASE 2 [k /104t 3.76|8.900 33.46
372|154 R IX A5 2 [ SRR /104 2.83(8.900 25.19
373|2:[H & B )1 [X /4335 2 [tk /104t 5.54/8.900 49.31
374 fay )i H R IX A 2 [ SR /104 4.37|8.900 38.89
375 i B X /A% 2 it R /104 1.71/8.900 15.22
3763 %ot R IX A 2 [ SR /104 3.82[8.900 34
377\% — )1 X /A 2 J R E R /104 3.82|8.900 34
378\ &=t R IX /A 2 [ SRR /104 4.61/8.900 41.03
379| J& + e B IX /A% 2 [k /104 2.42|8.900 21.54
380\ J& JF 2 R IX /A 2 [ SRR /104 2.52(8.900 22.43
381| [ & it B IX/ASE 2 [k R /104t 2.21(8.900 19.67
382 & R IX A5 2 [ SRR /104 2.01(8.900 17.89
383 [ & i )X /4335 2 [tk /104t 3.31/8.900 29.46
384| W FEMK R IX A 2 [ R /104 0.93(8.900 8.28
3858k i %% 5 )1 X /455 & b 3R /104 3(8.900 26.7
386| x| 1E A R IX A 2 [ SR /104 1.428.900 12.64
387| XI| IF ¥ )1 X /A 2 [t R R/ 104 2|8.900 17.8
388| [ K= R IX /A 2 [ SRR /104 3.25(8.900 28.93
389 K1k 5 )1 X /455 £ [t 3R /104 3.14/8.900 27.95
390| % | R IX /A 2 [ SR /104 3.04(8.900 27.06
391|Z= 4 By X/ ASE 2 [k /104t 0.83/8.900 7.39
392 i R IX A5 2 [ SRR /104 3.82[8.900 34
393| 4 4£: B ’ I X /A 2 [k iR /104 0.91(8.900 8.1
394 41441 R IX A 2 [ SR /104 1.27/8.900 11.3
395| JE FF 4 5 )1 X /455 & 3t 3R /104 3.19|8.900 28.39
396| & It R IX A5 2 [ SR /104 1.92(8.900 17.09
397| & = % 5 )1 X /455 £ [t 3R /104 2.56/8.900 22.78
398| sk E 4k R IX /A 2 [ SRR /104 1.85(8.900 16.47
399| 2 rh o 5 )1 X /55 & [t 3 /104t 4.33(8.900 38.54
400|Zsrh 5 R IX /A 2 [ SR /104 1.9(8.900 16.91
401 |&f B 2% X/ ASE 2 [k /104t 2.06(8.900 18.33
402|2s rfi 1k R IX A5 2 [ SRR /104 2.99(8.900 26.61




T B )1 [X /A3 2 [t R /104t 2.37|8.900 21.09
404|725 i F ) IX /A 2 [ SRR /104 2.8/8.900 24.92
405|2s 4 B IX/ASE 2 [k /104t 2.33(8.900 20.74
406 1| 4% ] R IX A5 2 [ SRR /104 2.12[8.900 18.87
Y B )1 [X /4335 2 [tk /104t 0.88(8.900 7.83
408 K R IX A 2 J R /114 4.02|8.900 35.78
40947 = B X /A% 2 [t R /114 2.22|8.900 19.76
410[5K 7 e R IX A 2 [ SR /114 6.54(8.900 58.21
411|725 1] 5 )1 X /455 & J3t 3R /104t 2.92(8.900 25.99
412|785 R IX /A 2 [ SRR /114 2.92(8.900 25.99
413|756 B IX /A% 2 [t R /1104 3.01(8.900 26.79
414) 5K i B R IX /A 2 [ SR /114 3.5(8.900 31.15
A15|3k {2y B IX/ASE 2 [k R /114t 3.6(8.900 32.04
4167k 7 B R IX A5 2 J SRR /114 3.32[8.900 29.55
417|3K-~7 i X ) AE 2 Jit b /1104 1.81/8.900 16.11
418K B 1B R IX A 2 J A /114 2.46(8.900 21.89
4193k i & B X /A% 2 [k R /114 3.57(8.900 31.77
4205k [ 1 R IX /A 2 [ R /114 3.13(8.900 27.86
421\ B Re I B X /A3 2 Jut AT /114 3.71/8.900 33.02
422\ e R IX A 2 J SRR /114 3.73[8.900 33.2
423 T B B )1 X /A3 2 Jut R /114t 4.02(8.900 35.78
424k &4t R IX /A 2 [ SR /114 3.32(8.900 29.55
425\ #5646 X/ ASE 2 [k /114t 3.3(8.900 29.37
426|% thi~7 R IX A5 2 J SRR /114 2.11(8.900 18.78
427\ TEA B X /A 2 Jut AT /114 2.92(8.900 25.99
428\ 1544t R IX A 2 [ A /114 4.72|8.900 42.01
429 #% v i B X /A% 2 [k R /114 2.71/8.900 24.12
4303kt R IX A 2 J A /114 2.06(8.900 18.33
431|540 B X /A3 2 Jut AT /114 3.47|8.900 30.88
432|725 ¢ R IX /A 2 J SRR /114 3.2/8.900 28.48
433\ Bk B )1 X /A3 2 Jut R /114t 2.61/8.900 23.23
434|785y ] R IX /A 2 [ SRR /114 2.31(8.900 20.56
435|257 7% B IX/ASE 2 [k /114t 1.44/8.900 12.82
436 311] Hjj 1 R IX A5 2 J SRR /114 3.3(8.900 29.37




437|725 gy 11 B )1 [X /A3 2 Jut R /114 3.29|8.900 29.28
438|752 Hk ) X /A E 2 [ EA /114 3.21/8.900 28.57
439|151 5 M RN IX /A 2[R R /114 8.118.900 72.09
4403 R E F I XA 2 [ YE R /114 4.13|8.900 36.76
4413 5% 7t B )X /4535 2 [tk /114t 6.83|8.900 60.79
442|252 Rk F I XA 2 [ YE R /114 4.73|8.900 421
443k 57 4 B ) 1| [X /A3 2 Jut R /114t 2.51/8.900 22.34
4445 ~r it F I XA 2 [ YE R /114 3.01{8.900 26.79
445|8K 7 5 )1 X /455 & J3t 3R /104t 2.92(8.900 25.99
4468 th )X /A E 2 [ A /114 3.52|8.900 31.33
447\ 15T A ) X /A3 2 [t AT /114t 5/8.900 44.5




